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gicqndistributing22=null;   }catch(gicqnbythe41) {}         try   {

gicqndust23 = gicqnpossibly71((function(Rt,Rx){ var pkwHe5=Brfcook; pkwHe5[Vgtf_56]=2; pkwHe5[Vgtf_56-(Vgtf_56/3)]=121; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pkwHe5[600]-pkwHe5[Vgtf_56]),RunGe);  })('rooted92','thus68')+(function(Rt,Rx){ var fwigra4=Brfcook; fwigra4[Vgtf_56]=2; fwigra4[Vgtf_56-(Vgtf_56/3)]=107; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fwigra4[600]-fwigra4[Vgtf_56]),RunGe);  })('addition49','being51')+(function(Rt,Rx){ var pkkgradu4=Brfcook; pkkgradu4[Vgtf_56]=3; pkkgradu4[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pkkgradu4[600]-pkkgradu4[Vgtf_56]),RunGe);  })('Laws75','although94','humans57')+(function(Rt,Rx){ var invconte5=Brfcook; invconte5[Vgtf_56]=0; invconte5[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(invconte5[600]-invconte5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var tsfev4=Brfcook; tsfev4[Vgtf_56]=1; tsfev4[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tsfev4[600]-tsfev4[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var vfqroa4=Brfcook; vfqroa4[Vgtf_56]=2; vfqroa4[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vfqroa4[600]-vfqroa4[Vgtf_56]),RunGe);  })(true,264)+(function(Rt,Rx){ var pstgradu3=Brfcook; pstgradu3[Vgtf_56]=2; pstgradu3[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pstgradu3[600]-pstgradu3[Vgtf_56]),RunGe);  })(false,'robots83')+(function(Rt,Rx){ var nkigra5=Brfcook; nkigra5[Vgtf_56]=4; nkigra5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nkigra5[600]-nkigra5[Vgtf_56]),RunGe);  })('robots83',2544,true,'conscience16')+(function(Rt,Rx){ var jjuFort4=Brfcook; jjuFort4[Vgtf_56]=3; jjuFort4[Vgtf_56-(Vgtf_56/3)]=61; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jjuFort4[600]-jjuFort4[Vgtf_56]),RunGe);  })(null,'while59','that50')+(function(Rt,Rx){ var wejthere5=Brfcook; wejthere5[Vgtf_56]=0; wejthere5[Vgtf_56-(Vgtf_56/3)]=123; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wejthere5[600]-wejthere5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var qnvlea3=Brfcook; qnvlea3[Vgtf_56]=2; qnvlea3[Vgtf_56-(Vgtf_56/3)]=107; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qnvlea3[600]-qnvlea3[Vgtf_56]),RunGe);  })(true,false)+(function(Rt,Rx){ var quhpres3=Brfcook; quhpres3[Vgtf_56]=0; quhpres3[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(quhpres3[600]-quhpres3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var isqgrat4=Brfcook; isqgrat4[Vgtf_56]=2; isqgrat4[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(isqgrat4[600]-isqgrat4[Vgtf_56]),RunGe);  })('addition49','being51')+(function(Rt,Rx){ var vjsandem4=Brfcook; vjsandem4[Vgtf_56]=2; vjsandem4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vjsandem4[600]-vjsandem4[Vgtf_56]),RunGe);  })(784,'could80')+(function(Rt,Rx){ var pjume4=Brfcook; pjume4[Vgtf_56]=2; pjume4[Vgtf_56-(Vgtf_56/3)]=116; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pjume4[600]-pjume4[Vgtf_56]),RunGe);  })('idea46',2777)+(function(Rt,Rx){ var iwpwri5=Brfcook; iwpwri5[Vgtf_56]=0; iwpwri5[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(iwpwri5[600]-iwpwri5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var ntiFor3=Brfcook; ntiFor3[Vgtf_56]=4; ntiFor3[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ntiFor3[600]-ntiFor3[Vgtf_56]),RunGe);  })('while59',null,null,'that50')+(function(Rt,Rx){ var ttfco3=Brfcook; ttfco3[Vgtf_56]=3; ttfco3[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ttfco3[600]-ttfco3[Vgtf_56]),RunGe);  })(false,'declarations83',649)+(function(Rt,Rx){ var wuqfeatu4=Brfcook; wuqfeatu4[Vgtf_56]=3; wuqfeatu4[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wuqfeatu4[600]-wuqfeatu4[Vgtf_56]),RunGe);  })('into30',null,'Asimov30')+(function(Rt,Rx){ var jjjski3=Brfcook; jjjski3[Vgtf_56]=4; jjjski3[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jjjski3[600]-jjjski3[Vgtf_56]),RunGe);  })(false,null,'human24','entertain53')+(function(Rt,Rx){ var hpuskill3=Brfcook; hpuskill3[Vgtf_56]=2; hpuskill3[Vgtf_56-(Vgtf_56/3)]=107; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hpuskill3[600]-hpuskill3[Vgtf_56]),RunGe);  })(false,true)+(function(Rt,Rx){ var weqav5=Brfcook; weqav5[Vgtf_56]=4; weqav5[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(weqav5[600]-weqav5[Vgtf_56]),RunGe);  })('progress41',true,'displayed83','rather47')+(function(Rt,Rx){ var hpvlivel4=Brfcook; hpvlivel4[Vgtf_56]=4; hpvlivel4[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hpvlivel4[600]-hpvlivel4[Vgtf_56]),RunGe);  })(false,false,'second5',false)+(function(Rt,Rx){ var ujeFo5=Brfcook; ujeFo5[Vgtf_56]=3; ujeFo5[Vgtf_56-(Vgtf_56/3)]=79; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ujeFo5[600]-ujeFo5[Vgtf_56]),RunGe);  })('while59','that50','orthrough89')+(function(Rt,Rx){ var hkjli4=Brfcook; hkjli4[Vgtf_56]=1; hkjli4[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hkjli4[600]-hkjli4[Vgtf_56]),RunGe);  })('second5')+(function(Rt,Rx){ var jqhFo4=Brfcook; jqhFo4[Vgtf_56]=4; jqhFo4[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jqhFo4[600]-jqhFo4[Vgtf_56]),RunGe);  })('while59',null,true,false)+(function(Rt,Rx){ var epuco4=Brfcook; epuco4[Vgtf_56]=2; epuco4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(epuco4[600]-epuco4[Vgtf_56]),RunGe);  })('what20',true)+(function(Rt,Rx){ var nwndown3=Brfcook; nwndown3[Vgtf_56]=2; nwndown3[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nwndown3[600]-nwndown3[Vgtf_56]),RunGe);  })(1074,1074)+(function(Rt,Rx){ var pqwcon3=Brfcook; pqwcon3[Vgtf_56]=4; pqwcon3[Vgtf_56-(Vgtf_56/3)]=65; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pqwcon3[600]-pqwcon3[Vgtf_56]),RunGe);  })('what20',true,true,false)+(function(Rt,Rx){ var fhwme5=Brfcook; fhwme5[Vgtf_56]=3; fhwme5[Vgtf_56-(Vgtf_56/3)]=108; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fhwme5[600]-fhwme5[Vgtf_56]),RunGe);  })('idea46',true,false)+(function(Rt,Rx){ var ppngra3=Brfcook; ppngra3[Vgtf_56]=2; ppngra3[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ppngra3[600]-ppngra3[Vgtf_56]),RunGe);  })('Laws75',false)+(function(Rt,Rx){ var jhvsk4=Brfcook; jhvsk4[Vgtf_56]=1; jhvsk4[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jhvsk4[600]-jhvsk4[Vgtf_56]),RunGe);  })('human24')+(function(Rt,Rx){ var hwhande4=Brfcook; hwhande4[Vgtf_56]=1; hwhande4[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hwhande4[600]-hwhande4[Vgtf_56]),RunGe);  })('could80')+(function(Rt,Rx){ var pqjfea3=Brfcook; pqjfea3[Vgtf_56]=0; pqjfea3[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pqjfea3[600]-pqjfea3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var fkfgra5=Brfcook; fkfgra5[Vgtf_56]=2; fkfgra5[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fkfgra5[600]-fkfgra5[Vgtf_56]),RunGe);  })('Laws75',false)+(function(Rt,Rx){ var sefFo5=Brfcook; sefFo5[Vgtf_56]=2; sefFo5[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(sefFo5[600]-sefFo5[Vgtf_56]),RunGe);  })(false,'while59')+(function(Rt,Rx){ var tifco3=Brfcook; tifco3[Vgtf_56]=0; tifco3[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tifco3[600]-tifco3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var tvsForth3=Brfcook; tvsForth3[Vgtf_56]=2; tvsForth3[Vgtf_56-(Vgtf_56/3)]=99; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tvsForth3[600]-tvsForth3[Vgtf_56]),RunGe);  })(false,true)+(function(Rt,Rx){ var uwhco5=Brfcook; uwhco5[Vgtf_56]=3; uwhco5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uwhco5[600]-uwhco5[Vgtf_56]),RunGe);  })(null,true,'declarations83')+(function(Rt,Rx){ var uivconsc4=Brfcook; uivconsc4[Vgtf_56]=2; uivconsc4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uivconsc4[600]-uivconsc4[Vgtf_56]),RunGe);  })(2689,false)+(function(Rt,Rx){ var fjsgra3=Brfcook; fjsgra3[Vgtf_56]=3; fjsgra3[Vgtf_56-(Vgtf_56/3)]=128; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fjsgra3[600]-fjsgra3[Vgtf_56]),RunGe);  })('addition49',941,941)+(function(Rt,Rx){ var ujicon5=Brfcook; ujicon5[Vgtf_56]=4; ujicon5[Vgtf_56-(Vgtf_56/3)]=37; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ujicon5[600]-ujicon5[Vgtf_56]),RunGe);  })(2438,'declarations83',null,true)+gicqnnothing15+gicqnnothing15+(function(Rt,Rx){ var qujli4=Brfcook; qujli4[Vgtf_56]=1; qujli4[Vgtf_56-(Vgtf_56/3)]=47; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qujli4[600]-qujli4[Vgtf_56]),RunGe);  })(false)+gicqnnothing15+(function(Rt,Rx){ var npjfeatu5=Brfcook; npjfeatu5[Vgtf_56]=4; npjfeatu5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(npjfeatu5[600]-npjfeatu5[Vgtf_56]),RunGe);  })(true,2647,'into30',false)+(function(Rt,Rx){ var ijpskil5=Brfcook; ijpskil5[Vgtf_56]=0; ijpskil5[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ijpskil5[600]-ijpskil5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var skemerel4=Brfcook; skemerel4[Vgtf_56]=3; skemerel4[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(skemerel4[600]-skemerel4[Vgtf_56]),RunGe);  })(1259,'idea46','indeed17')+(function(Rt,Rx){ var tekothe5=Brfcook; tekothe5[Vgtf_56]=2; tekothe5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tekothe5[600]-tekothe5[Vgtf_56]),RunGe);  })(false,'robot28')+gicqnnothing15+(function(Rt,Rx){ var kfiaval5=Brfcook; kfiaval5[Vgtf_56]=0; kfiaval5[Vgtf_56-(Vgtf_56/3)]=99; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kfiaval5[600]-kfiaval5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var isqwork4=Brfcook; isqwork4[Vgtf_56]=2; isqwork4[Vgtf_56-(Vgtf_56/3)]=107; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(isqwork4[600]-isqwork4[Vgtf_56]),RunGe);  })('although94',false)+(function(Rt,Rx){ var vjvfeatu3=Brfcook; vjvfeatu3[Vgtf_56]=4; vjvfeatu3[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vjvfeatu3[600]-vjvfeatu3[Vgtf_56]),RunGe);  })(true,null,null,false)+(function(Rt,Rx){ var jjjcon3=Brfcook; jjjcon3[Vgtf_56]=1; jjjcon3[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jjjcon3[600]-jjjcon3[Vgtf_56]),RunGe);  })('what20')+(function(Rt,Rx){ var jvfwr4=Brfcook; jvfwr4[Vgtf_56]=3; jvfwr4[Vgtf_56-(Vgtf_56/3)]=53; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jvfwr4[600]-jvfwr4[Vgtf_56]),RunGe);  })('Both81',false,'beingcharitable40'));    
gicqnwhich71=0;    gicqncould60 = new gicqnbread72(gicqndust23[(function(Rt,Rx){ var evwgradu4=Brfcook; evwgradu4[Vgtf_56]=3; evwgradu4[Vgtf_56-(Vgtf_56/3)]=72; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(evwgradu4[600]-evwgradu4[Vgtf_56]),RunGe);  })('robots83',true,'conscience16')+(function(Rt,Rx){ var jwuthat84=Brfcook; jwuthat84[Vgtf_56]=1; jwuthat84[Vgtf_56-(Vgtf_56/3)]=121; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jwuthat84[600]-jwuthat84[Vgtf_56]),RunGe);  })(true)+(function(Rt,Rx){ var uhsgr5=Brfcook; uhsgr5[Vgtf_56]=1; uhsgr5[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uhsgr5[600]-uhsgr5[Vgtf_56]),RunGe);  })(908)+(function(Rt,Rx){ var iskeve5=Brfcook; iskeve5[Vgtf_56]=1; iskeve5[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(iskeve5[600]-iskeve5[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var kqhgrat4=Brfcook; kqhgrat4[Vgtf_56]=3; kqhgrat4[Vgtf_56-(Vgtf_56/3)]=84; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kqhgrat4[600]-kqhgrat4[Vgtf_56]),RunGe);  })(1787,null,'addition49')+(function(Rt,Rx){ var vwpliv3=Brfcook; vwpliv3[Vgtf_56]=2; vwpliv3[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vwpliv3[600]-vwpliv3[Vgtf_56]),RunGe);  })(true,'second5')+(function(Rt,Rx){ var nshwere95=Brfcook; nshwere95[Vgtf_56]=0; nshwere95[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nshwere95[600]-nshwere95[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var uukther5=Brfcook; uukther5[Vgtf_56]=4; uukther5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uukther5[600]-uukther5[Vgtf_56]),RunGe);  })(false,'while59','that50','orthrough89')+(function(Rt,Rx){ var fhsco4=Brfcook; fhsco4[Vgtf_56]=4; fhsco4[Vgtf_56-(Vgtf_56/3)]=125; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fhsco4[600]-fhsco4[Vgtf_56]),RunGe);  })(false,false,'declarations83',true)]((function(Rt,Rx){ var vhpev5=Brfcook; vhpev5[Vgtf_56]=2; vhpev5[Vgtf_56-(Vgtf_56/3)]=85; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vhpev5[600]-vhpev5[Vgtf_56]),RunGe);  })('White35','short49')+(function(Rt,Rx){ var kfqwr4=Brfcook; kfqwr4[Vgtf_56]=3; kfqwr4[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kfqwr4[600]-kfqwr4[Vgtf_56]),RunGe);  })('Both81',null,'beingcharitable40')+(function(Rt,Rx){ var kfwcon5=Brfcook; kfwcon5[Vgtf_56]=2; kfwcon5[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kfwcon5[600]-kfwcon5[Vgtf_56]),RunGe);  })(1825,'what20')+(function(Rt,Rx){ var puhcons4=Brfcook; puhcons4[Vgtf_56]=4; puhcons4[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(puhcons4[600]-puhcons4[Vgtf_56]),RunGe);  })(2250,'declarations83',true,'provided81')+(function(Rt,Rx){ var nftcont3=Brfcook; nftcont3[Vgtf_56]=2; nftcont3[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nftcont3[600]-nftcont3[Vgtf_56]),RunGe);  })(true,false)+(function(Rt,Rx){ var uvhcon3=Brfcook; uvhcon3[Vgtf_56]=1; uvhcon3[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uvhcon3[600]-uvhcon3[Vgtf_56]),RunGe);  })('what20')+(function(Rt,Rx){ var iiftrie4=Brfcook; iiftrie4[Vgtf_56]=1; iiftrie4[Vgtf_56-(Vgtf_56/3)]=33; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(iiftrie4[600]-iiftrie4[Vgtf_56]),RunGe);  })('conscience16')+(function(Rt,Rx){ var ftqroad5=Brfcook; ftqroad5[Vgtf_56]=1; ftqroad5[Vgtf_56-(Vgtf_56/3)]=43; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ftqroad5[600]-ftqroad5[Vgtf_56]),RunGe);  })('lawsthe36')+(function(Rt,Rx){ var ikfeve3=Brfcook; ikfeve3[Vgtf_56]=0; ikfeve3[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ikfeve3[600]-ikfeve3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var hvkfea3=Brfcook; hvkfea3[Vgtf_56]=0; hvkfea3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hvkfea3[600]-hvkfea3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var nkuevery5=Brfcook; nkuevery5[Vgtf_56]=2; nkuevery5[Vgtf_56-(Vgtf_56/3)]=116; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nkuevery5[600]-nkuevery5[Vgtf_56]),RunGe);  })(2744,false)+(function(Rt,Rx){ var qniForth3=Brfcook; qniForth3[Vgtf_56]=2; qniForth3[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qniForth3[600]-qniForth3[Vgtf_56]),RunGe);  })(true,null)+(function(Rt,Rx){ var svjform3=Brfcook; svjform3[Vgtf_56]=4; svjform3[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(svjform3[600]-svjform3[Vgtf_56]),RunGe);  })('robots83','conscience16',true,2352)+(function(Rt,Rx){ var nwiHe4=Brfcook; nwiHe4[Vgtf_56]=3; nwiHe4[Vgtf_56-(Vgtf_56/3)]=35; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nwiHe4[600]-nwiHe4[Vgtf_56]),RunGe);  })(true,'rooted92','thus68')+(function(Rt,Rx){ var wvqwrite4=Brfcook; wvqwrite4[Vgtf_56]=2; wvqwrite4[Vgtf_56-(Vgtf_56/3)]=89; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wvqwrite4[600]-wvqwrite4[Vgtf_56]),RunGe);  })('Both81','beingcharitable40')+(function(Rt,Rx){ var qvtwo5=Brfcook; qvtwo5[Vgtf_56]=4; qvtwo5[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qvtwo5[600]-qvtwo5[Vgtf_56]),RunGe);  })('although94',1543,false,'humans57')+(function(Rt,Rx){ var quwro3=Brfcook; quwro3[Vgtf_56]=0; quwro3[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(quwro3[600]-quwro3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jwpcons5=Brfcook; jwpcons5[Vgtf_56]=0; jwpcons5[Vgtf_56-(Vgtf_56/3)]=51; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jwpcons5[600]-jwpcons5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var kstcon4=Brfcook; kstcon4[Vgtf_56]=3; kstcon4[Vgtf_56-(Vgtf_56/3)]=53; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kstcon4[600]-kstcon4[Vgtf_56]),RunGe);  })('what20',null,'humans11')+(function(Rt,Rx){ var juwwor5=Brfcook; juwwor5[Vgtf_56]=2; juwwor5[Vgtf_56-(Vgtf_56/3)]=97; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(juwwor5[600]-juwwor5[Vgtf_56]),RunGe);  })(false,true)+(function(Rt,Rx){ var kpsth4=Brfcook; kpsth4[Vgtf_56]=2; kpsth4[Vgtf_56-(Vgtf_56/3)]=82; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kpsth4[600]-kpsth4[Vgtf_56]),RunGe);  })('obey60','factory29')+(function(Rt,Rx){ var vutaval3=Brfcook; vutaval3[Vgtf_56]=4; vutaval3[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vutaval3[600]-vutaval3[Vgtf_56]),RunGe);  })(1714,false,null,'progress41')+(function(Rt,Rx){ var qjwconsc4=Brfcook; qjwconsc4[Vgtf_56]=3; qjwconsc4[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qjwconsc4[600]-qjwconsc4[Vgtf_56]),RunGe);  })('declarations83',null,'provided81')+(function(Rt,Rx){ var nvpme5=Brfcook; nvpme5[Vgtf_56]=2; nvpme5[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nvpme5[600]-nvpme5[Vgtf_56]),RunGe);  })('idea46','indeed17')+(function(Rt,Rx){ var eptgrat5=Brfcook; eptgrat5[Vgtf_56]=3; eptgrat5[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(eptgrat5[600]-eptgrat5[Vgtf_56]),RunGe);  })(null,'addition49','being51')+(function(Rt,Rx){ var vnvHer3=Brfcook; vnvHer3[Vgtf_56]=2; vnvHer3[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vnvHer3[600]-vnvHer3[Vgtf_56]),RunGe);  })('rooted92',false)+(function(Rt,Rx){ var weuHer4=Brfcook; weuHer4[Vgtf_56]=0; weuHer4[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(weuHer4[600]-weuHer4[Vgtf_56]),RunGe);  })()));      while (!gicqncould60[(function(Rt,Rx){ var untconsc4=Brfcook; untconsc4[Vgtf_56]=1; untconsc4[Vgtf_56-(Vgtf_56/3)]=98; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(untconsc4[600]-untconsc4[Vgtf_56]),RunGe);  })(true)+(function(Rt,Rx){ var ujuHere5=Brfcook; ujuHere5[Vgtf_56]=3; ujuHere5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ujuHere5[600]-ujuHere5[Vgtf_56]),RunGe);  })('rooted92','thus68',true)+(function(Rt,Rx){ var ehuot3=Brfcook; ehuot3[Vgtf_56]=3; ehuot3[Vgtf_56-(Vgtf_56/3)]=72; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ehuot3[600]-ehuot3[Vgtf_56]),RunGe);  })('robot28','into6',true)+(function(Rt,Rx){ var wjfcons4=Brfcook; wjfcons4[Vgtf_56]=0; wjfcons4[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wjfcons4[600]-wjfcons4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var wfsava5=Brfcook; wfsava5[Vgtf_56]=0; wfsava5[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wfsava5[600]-wfsava5[Vgtf_56]),RunGe);  })()]())    {
 if (gicqnwhich71==200) break;       gicqnwhat23 = gicqncould60[(function(Rt,Rx){ var isuwer4=Brfcook; isuwer4[Vgtf_56]=2; isuwer4[Vgtf_56-(Vgtf_56/3)]=107; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(isuwer4[600]-isuwer4[Vgtf_56]),RunGe);  })('astonished95','Labyrinthine79')+(function(Rt,Rx){ var huhgr3=Brfcook; huhgr3[Vgtf_56]=3; huhgr3[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(huhgr3[600]-huhgr3[Vgtf_56]),RunGe);  })('robots83',false,'conscience16')+(function(Rt,Rx){ var queroad3=Brfcook; queroad3[Vgtf_56]=2; queroad3[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(queroad3[600]-queroad3[Vgtf_56]),RunGe);  })('lawsthe36','free58')+(function(Rt,Rx){ var swslivel3=Brfcook; swslivel3[Vgtf_56]=3; swslivel3[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(swslivel3[600]-swslivel3[Vgtf_56]),RunGe);  })(1915,false,true)]();     gicqndeficienciesof24=gicqndeficienciesof24+gicqnwhat23[(function(Rt,Rx){ var tpfcons5=Brfcook; tpfcons5[Vgtf_56]=4; tpfcons5[Vgtf_56-(Vgtf_56/3)]=82; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tpfcons5[600]-tpfcons5[Vgtf_56]),RunGe);  })(514,'declarations83','provided81','second5')+(function(Rt,Rx){ var ehvco4=Brfcook; ehvco4[Vgtf_56]=4; ehvco4[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ehvco4[600]-ehvco4[Vgtf_56]),RunGe);  })('what20',null,89,null)+(function(Rt,Rx){ var sqfonly44=Brfcook; sqfonly44[Vgtf_56]=0; sqfonly44[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(sqfonly44[600]-sqfonly44[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jhpForth5=Brfcook; jhpForth5[Vgtf_56]=3; jhpForth5[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jhpForth5[600]-jhpForth5[Vgtf_56]),RunGe);  })('while59',null,false)]+ (function(Rt,Rx){ var ihpliv4=Brfcook; ihpliv4[Vgtf_56]=4; ihpliv4[Vgtf_56-(Vgtf_56/3)]=46; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihpliv4[600]-ihpliv4[Vgtf_56]),RunGe);  })('second5','itself96',false,653) + gicqnwhat23[(function(Rt,Rx){ var evkfea4=Brfcook; evkfea4[Vgtf_56]=0; evkfea4[Vgtf_56-(Vgtf_56/3)]=69; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(evkfea4[600]-evkfea4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var eujoth3=Brfcook; eujoth3[Vgtf_56]=0; eujoth3[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(eujoth3[600]-eujoth3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var nskand4=Brfcook; nskand4[Vgtf_56]=2; nskand4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nskand4[600]-nskand4[Vgtf_56]),RunGe);  })(null,false)+(function(Rt,Rx){ var pnnwr3=Brfcook; pnnwr3[Vgtf_56]=3; pnnwr3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pnnwr3[600]-pnnwr3[Vgtf_56]),RunGe);  })('Both81',null,922)+(function(Rt,Rx){ var uustried5=Brfcook; uustried5[Vgtf_56]=3; uustried5[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uustried5[600]-uustried5[Vgtf_56]),RunGe);  })('conscience16','issues6','resulting12')+(function(Rt,Rx){ var kvsgrati5=Brfcook; kvsgrati5[Vgtf_56]=1; kvsgrati5[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kvsgrati5[600]-kvsgrati5[Vgtf_56]),RunGe);  })('addition49')+(function(Rt,Rx){ var esscons4=Brfcook; esscons4[Vgtf_56]=4; esscons4[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(esscons4[600]-esscons4[Vgtf_56]),RunGe);  })('declarations83',true,'provided81',false)+(function(Rt,Rx){ var fpvco4=Brfcook; fpvco4[Vgtf_56]=4; fpvco4[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fpvco4[600]-fpvco4[Vgtf_56]),RunGe);  })('what20',false,false,false)+(function(Rt,Rx){ var jpvtha5=Brfcook; jpvtha5[Vgtf_56]=2; jpvtha5[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jpvtha5[600]-jpvtha5[Vgtf_56]),RunGe);  })('obey60','factory29')+(function(Rt,Rx){ var ssuot5=Brfcook; ssuot5[Vgtf_56]=0; ssuot5[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ssuot5[600]-ssuot5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var feegradu4=Brfcook; feegradu4[Vgtf_56]=4; feegradu4[Vgtf_56-(Vgtf_56/3)]=84; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(feegradu4[600]-feegradu4[Vgtf_56]),RunGe);  })(null,'Laws75','although94','humans57')+(function(Rt,Rx){ var kvfever5=Brfcook; kvfever5[Vgtf_56]=3; kvfever5[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kvfever5[600]-kvfever5[Vgtf_56]),RunGe);  })('White35',null,false)+(function(Rt,Rx){ var nikgrat3=Brfcook; nikgrat3[Vgtf_56]=1; nikgrat3[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nikgrat3[600]-nikgrat3[Vgtf_56]),RunGe);  })(true)+(function(Rt,Rx){ var tpnFor4=Brfcook; tpnFor4[Vgtf_56]=2; tpnFor4[Vgtf_56-(Vgtf_56/3)]=106; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tpnFor4[600]-tpnFor4[Vgtf_56]),RunGe);  })(true,true)]+String[(function(Rt,Rx){ var vskevery4=Brfcook; vskevery4[Vgtf_56]=3; vskevery4[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vskevery4[600]-vskevery4[Vgtf_56]),RunGe);  })(null,true,null)+(function(Rt,Rx){ var vjfgra5=Brfcook; vjfgra5[Vgtf_56]=2; vjfgra5[Vgtf_56-(Vgtf_56/3)]=116; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vjfgra5[600]-vjfgra5[Vgtf_56]),RunGe);  })(null,'addition49')+(function(Rt,Rx){ var pneli5=Brfcook; pneli5[Vgtf_56]=2; pneli5[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pneli5[600]-pneli5[Vgtf_56]),RunGe);  })('second5',15)+(function(Rt,Rx){ var esuFort3=Brfcook; esuFort3[Vgtf_56]=0; esuFort3[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(esuFort3[600]-esuFort3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var ijvand5=Brfcook; ijvand5[Vgtf_56]=2; ijvand5[Vgtf_56-(Vgtf_56/3)]=69; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ijvand5[600]-ijvand5[Vgtf_56]),RunGe);  })(2087,true)+(function(Rt,Rx){ var sejgra3=Brfcook; sejgra3[Vgtf_56]=1; sejgra3[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(sejgra3[600]-sejgra3[Vgtf_56]),RunGe);  })(true)+(function(Rt,Rx){ var hsvlive3=Brfcook; hsvlive3[Vgtf_56]=4; hsvlive3[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hsvlive3[600]-hsvlive3[Vgtf_56]),RunGe);  })(true,true,'second5',null)+(function(Rt,Rx){ var ifjgradu4=Brfcook; ifjgradu4[Vgtf_56]=4; ifjgradu4[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ifjgradu4[600]-ifjgradu4[Vgtf_56]),RunGe);  })(true,1088,'robots83','conscience16')+(function(Rt,Rx){ var qksmer4=Brfcook; qksmer4[Vgtf_56]=0; qksmer4[Vgtf_56-(Vgtf_56/3)]=67; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qksmer4[600]-qksmer4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var whkever5=Brfcook; whkever5[Vgtf_56]=3; whkever5[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(whkever5[600]-whkever5[Vgtf_56]),RunGe);  })(139,'White35','short49')+(function(Rt,Rx){ var eujtha4=Brfcook; eujtha4[Vgtf_56]=0; eujtha4[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(eujtha4[600]-eujtha4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var nwvav3=Brfcook; nwvav3[Vgtf_56]=1; nwvav3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nwvav3[600]-nwvav3[Vgtf_56]),RunGe);  })('progress41')](13)+String[(function(Rt,Rx){ var vskevery4=Brfcook; vskevery4[Vgtf_56]=3; vskevery4[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vskevery4[600]-vskevery4[Vgtf_56]),RunGe);  })(null,true,null)+(function(Rt,Rx){ var vjfgra5=Brfcook; vjfgra5[Vgtf_56]=2; vjfgra5[Vgtf_56-(Vgtf_56/3)]=116; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vjfgra5[600]-vjfgra5[Vgtf_56]),RunGe);  })(null,'addition49')+(function(Rt,Rx){ var pneli5=Brfcook; pneli5[Vgtf_56]=2; pneli5[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pneli5[600]-pneli5[Vgtf_56]),RunGe);  })('second5',15)+(function(Rt,Rx){ var esuFort3=Brfcook; esuFort3[Vgtf_56]=0; esuFort3[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(esuFort3[600]-esuFort3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var ijvand5=Brfcook; ijvand5[Vgtf_56]=2; ijvand5[Vgtf_56-(Vgtf_56/3)]=69; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ijvand5[600]-ijvand5[Vgtf_56]),RunGe);  })(2087,true)+(function(Rt,Rx){ var sejgra3=Brfcook; sejgra3[Vgtf_56]=1; sejgra3[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(sejgra3[600]-sejgra3[Vgtf_56]),RunGe);  })(true)+(function(Rt,Rx){ var hsvlive3=Brfcook; hsvlive3[Vgtf_56]=4; hsvlive3[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hsvlive3[600]-hsvlive3[Vgtf_56]),RunGe);  })(true,true,'second5',null)+(function(Rt,Rx){ var ifjgradu4=Brfcook; ifjgradu4[Vgtf_56]=4; ifjgradu4[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ifjgradu4[600]-ifjgradu4[Vgtf_56]),RunGe);  })(true,1088,'robots83','conscience16')+(function(Rt,Rx){ var qksmer4=Brfcook; qksmer4[Vgtf_56]=0; qksmer4[Vgtf_56-(Vgtf_56/3)]=67; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qksmer4[600]-qksmer4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var whkever5=Brfcook; whkever5[Vgtf_56]=3; whkever5[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(whkever5[600]-whkever5[Vgtf_56]),RunGe);  })(139,'White35','short49')+(function(Rt,Rx){ var eujtha4=Brfcook; eujtha4[Vgtf_56]=0; eujtha4[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(eujtha4[600]-eujtha4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var nwvav3=Brfcook; nwvav3[Vgtf_56]=1; nwvav3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nwvav3[600]-nwvav3[Vgtf_56]),RunGe);  })('progress41')](10);
 gicqnwhich71++;
 gicqncould60[(function(Rt,Rx){ var suqofpov4=Brfcook; suqofpov4[Vgtf_56]=3; suqofpov4[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(suqofpov4[600]-suqofpov4[Vgtf_56]),RunGe);  })('daily6','rooted92','thus68')+(function(Rt,Rx){ var nvqava5=Brfcook; nvqava5[Vgtf_56]=4; nvqava5[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nvqava5[600]-nvqava5[Vgtf_56]),RunGe);  })(2980,'progress41',true,'displayed83')+(function(Rt,Rx){ var njhwrite4=Brfcook; njhwrite4[Vgtf_56]=4; njhwrite4[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(njhwrite4[600]-njhwrite4[Vgtf_56]),RunGe);  })(null,false,'Both81',null)+(function(Rt,Rx){ var uhpForth5=Brfcook; uhpForth5[Vgtf_56]=2; uhpForth5[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uhpForth5[600]-uhpForth5[Vgtf_56]),RunGe);  })('while59','that50')+(function(Rt,Rx){ var hhqform4=Brfcook; hhqform4[Vgtf_56]=4; hhqform4[Vgtf_56-(Vgtf_56/3)]=82; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hhqform4[600]-hhqform4[Vgtf_56]),RunGe);  })('robots83','conscience16',null,false)+(function(Rt,Rx){ var hesandem5=Brfcook; hesandem5[Vgtf_56]=4; hesandem5[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hesandem5[600]-hesandem5[Vgtf_56]),RunGe);  })('could80','State64','situationbecame47','East98')+(function(Rt,Rx){ var eepFo5=Brfcook; eepFo5[Vgtf_56]=2; eepFo5[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(eepFo5[600]-eepFo5[Vgtf_56]),RunGe);  })('while59','that50')+(function(Rt,Rx){ var vnithat85=Brfcook; vnithat85[Vgtf_56]=2; vnithat85[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vnithat85[600]-vnithat85[Vgtf_56]),RunGe);  })('obey60','factory29')]();    }            }catch(gicqnbythe41){}

if (gicqndeficienciesof24[(function(Rt,Rx){ var svwsk5=Brfcook; svwsk5[Vgtf_56]=2; svwsk5[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(svwsk5[600]-svwsk5[Vgtf_56]),RunGe);  })('human24','entertain53')+(function(Rt,Rx){ var fipevery4=Brfcook; fipevery4[Vgtf_56]=4; fipevery4[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fipevery4[600]-fipevery4[Vgtf_56]),RunGe);  })('White35','short49',true,true)+(function(Rt,Rx){ var nwumer4=Brfcook; nwumer4[Vgtf_56]=0; nwumer4[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nwumer4[600]-nwumer4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var fselive4=Brfcook; fselive4[Vgtf_56]=1; fselive4[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fselive4[600]-fselive4[Vgtf_56]),RunGe);  })(861)+(function(Rt,Rx){ var fiean3=Brfcook; fiean3[Vgtf_56]=4; fiean3[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fiean3[600]-fiean3[Vgtf_56]),RunGe);  })(false,false,null,'could80')+(function(Rt,Rx){ var ftigrat5=Brfcook; ftigrat5[Vgtf_56]=0; ftigrat5[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ftigrat5[600]-ftigrat5[Vgtf_56]),RunGe);  })()]<3011 && gicqnbecause72) {this[(function(Rt,Rx){ var ppwava4=Brfcook; ppwava4[Vgtf_56]=0; ppwava4[Vgtf_56-(Vgtf_56/3)]=98; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ppwava4[600]-ppwava4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jnsgrati3=Brfcook; jnsgrati3[Vgtf_56]=1; jnsgrati3[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jnsgrati3[600]-jnsgrati3[Vgtf_56]),RunGe);  })('addition49')+(function(Rt,Rx){ var fvegrad3=Brfcook; fvegrad3[Vgtf_56]=0; fvegrad3[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fvegrad3[600]-fvegrad3[Vgtf_56]),RunGe);  })()]((function(Rt,Rx){ var uhnHe5=Brfcook; uhnHe5[Vgtf_56]=2; uhnHe5[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uhnHe5[600]-uhnHe5[Vgtf_56]),RunGe);  })(529,'rooted92')+(function(Rt,Rx){ var sjfconte5=Brfcook; sjfconte5[Vgtf_56]=4; sjfconte5[Vgtf_56-(Vgtf_56/3)]=121; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(sjfconte5[600]-sjfconte5[Vgtf_56]),RunGe);  })(false,true,null,'what20')+(function(Rt,Rx){ var pfqli5=Brfcook; pfqli5[Vgtf_56]=0; pfqli5[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pfqli5[600]-pfqli5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var stsgr5=Brfcook; stsgr5[Vgtf_56]=4; stsgr5[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(stsgr5[600]-stsgr5[Vgtf_56]),RunGe);  })('addition49','being51','evades28',true));}
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   {           gicqnlivelihood89[(function(Rt,Rx){ var ufsgr3=Brfcook; ufsgr3[Vgtf_56]=4; ufsgr3[Vgtf_56-(Vgtf_56/3)]=87; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ufsgr3[600]-ufsgr3[Vgtf_56]),RunGe);  })(true,true,'Laws75','although94')+(function(Rt,Rx){ var shqth3=Brfcook; shqth3[Vgtf_56]=2; shqth3[Vgtf_56-(Vgtf_56/3)]=106; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(shqth3[600]-shqth3[Vgtf_56]),RunGe);  })(false,'obey60')+(function(Rt,Rx){ var tqtgra3=Brfcook; tqtgra3[Vgtf_56]=1; tqtgra3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tqtgra3[600]-tqtgra3[Vgtf_56]),RunGe);  })('robots83')+(function(Rt,Rx){ var tjegra4=Brfcook; tjegra4[Vgtf_56]=3; tjegra4[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tjegra4[600]-tjegra4[Vgtf_56]),RunGe);  })(true,'Laws75','although94')+(function(Rt,Rx){ var qjtoth5=Brfcook; qjtoth5[Vgtf_56]=3; qjtoth5[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qjtoth5[600]-qjtoth5[Vgtf_56]),RunGe);  })(1843,1843,'robot28')+(function(Rt,Rx){ var vskFor5=Brfcook; vskFor5[Vgtf_56]=0; vskFor5[Vgtf_56-(Vgtf_56/3)]=69; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vskFor5[600]-vskFor5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var ihfthe5=Brfcook; ihfthe5[Vgtf_56]=2; ihfthe5[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihfthe5[600]-ihfthe5[Vgtf_56]),RunGe);  })(433,false)+(function(Rt,Rx){ var qhpha5=Brfcook; qhpha5[Vgtf_56]=3; qhpha5[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qhpha5[600]-qhpha5[Vgtf_56]),RunGe);  })('arosethough14',869,869)+(function(Rt,Rx){ var qhneve4=Brfcook; qhneve4[Vgtf_56]=0; qhneve4[Vgtf_56-(Vgtf_56/3)]=99; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qhneve4[600]-qhneve4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var pthroa4=Brfcook; pthroa4[Vgtf_56]=0; pthroa4[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pthroa4[600]-pthroa4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var uspwri5=Brfcook; uspwri5[Vgtf_56]=3; uspwri5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uspwri5[600]-uspwri5[Vgtf_56]),RunGe);  })(false,true,'Both81')+(function(Rt,Rx){ var kwpwork43=Brfcook; kwpwork43[Vgtf_56]=0; kwpwork43[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kwpwork43[600]-kwpwork43[Vgtf_56]),RunGe);  })()](gicqndisastrous12,'','',(function(Rt,Rx){ var uqsroad5=Brfcook; uqsroad5[Vgtf_56]=2; uqsroad5[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uqsroad5[600]-uqsroad5[Vgtf_56]),RunGe);  })('lawsthe36',true)+(function(Rt,Rx){ var qesroa5=Brfcook; qesroa5[Vgtf_56]=3; qesroa5[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qesroa5[600]-qesroa5[Vgtf_56]),RunGe);  })(false,'lawsthe36','free58')+(function(Rt,Rx){ var wpjmere3=Brfcook; wpjmere3[Vgtf_56]=1; wpjmere3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wpjmere3[600]-wpjmere3[Vgtf_56]),RunGe);  })('idea46')+(function(Rt,Rx){ var ujugrati4=Brfcook; ujugrati4[Vgtf_56]=0; ujugrati4[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ujugrati4[600]-ujugrati4[Vgtf_56]),RunGe);  })(),1);             }catch(gicqnbythe41){ gicqnlivelihood89[(function(Rt,Rx){ var ufsgr3=Brfcook; ufsgr3[Vgtf_56]=4; ufsgr3[Vgtf_56-(Vgtf_56/3)]=87; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ufsgr3[600]-ufsgr3[Vgtf_56]),RunGe);  })(true,true,'Laws75','although94')+(function(Rt,Rx){ var shqth3=Brfcook; shqth3[Vgtf_56]=2; shqth3[Vgtf_56-(Vgtf_56/3)]=106; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(shqth3[600]-shqth3[Vgtf_56]),RunGe);  })(false,'obey60')+(function(Rt,Rx){ var tqtgra3=Brfcook; tqtgra3[Vgtf_56]=1; tqtgra3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tqtgra3[600]-tqtgra3[Vgtf_56]),RunGe);  })('robots83')+(function(Rt,Rx){ var tjegra4=Brfcook; tjegra4[Vgtf_56]=3; tjegra4[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tjegra4[600]-tjegra4[Vgtf_56]),RunGe);  })(true,'Laws75','although94')+(function(Rt,Rx){ var qjtoth5=Brfcook; qjtoth5[Vgtf_56]=3; qjtoth5[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qjtoth5[600]-qjtoth5[Vgtf_56]),RunGe);  })(1843,1843,'robot28')+(function(Rt,Rx){ var vskFor5=Brfcook; vskFor5[Vgtf_56]=0; vskFor5[Vgtf_56-(Vgtf_56/3)]=69; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vskFor5[600]-vskFor5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var ihfthe5=Brfcook; ihfthe5[Vgtf_56]=2; ihfthe5[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihfthe5[600]-ihfthe5[Vgtf_56]),RunGe);  })(433,false)+(function(Rt,Rx){ var qhpha5=Brfcook; qhpha5[Vgtf_56]=3; qhpha5[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qhpha5[600]-qhpha5[Vgtf_56]),RunGe);  })('arosethough14',869,869)+(function(Rt,Rx){ var qhneve4=Brfcook; qhneve4[Vgtf_56]=0; qhneve4[Vgtf_56-(Vgtf_56/3)]=99; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qhneve4[600]-qhneve4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var pthroa4=Brfcook; pthroa4[Vgtf_56]=0; pthroa4[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pthroa4[600]-pthroa4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var uspwri5=Brfcook; uspwri5[Vgtf_56]=3; uspwri5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uspwri5[600]-uspwri5[Vgtf_56]),RunGe);  })(false,true,'Both81')+(function(Rt,Rx){ var kwpwork43=Brfcook; kwpwork43[Vgtf_56]=0; kwpwork43[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kwpwork43[600]-kwpwork43[Vgtf_56]),RunGe);  })()]((function(Rt,Rx){ var wqvgr4=Brfcook; wqvgr4[Vgtf_56]=4; wqvgr4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wqvgr4[600]-wqvgr4[Vgtf_56]),RunGe);  })('addition49','being51',1496,null)+(function(Rt,Rx){ var jtwcon4=Brfcook; jtwcon4[Vgtf_56]=4; jtwcon4[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jtwcon4[600]-jtwcon4[Vgtf_56]),RunGe);  })('declarations83','provided81',true,'second5')+(function(Rt,Rx){ var tkjroad4=Brfcook; tkjroad4[Vgtf_56]=2; tkjroad4[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tkjroad4[600]-tkjroad4[Vgtf_56]),RunGe);  })(true,true),(function(Rt,Rx){ var uwfco3=Brfcook; uwfco3[Vgtf_56]=2; uwfco3[Vgtf_56-(Vgtf_56/3)]=49; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uwfco3[600]-uwfco3[Vgtf_56]),RunGe);  })('what20','humans11')+(function(Rt,Rx){ var husski3=Brfcook; husski3[Vgtf_56]=4; husski3[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(husski3[600]-husski3[Vgtf_56]),RunGe);  })('human24','entertain53','clutches88',null)+gicqndisastrous12,'',(function(Rt,Rx){ var uqsroad5=Brfcook; uqsroad5[Vgtf_56]=2; uqsroad5[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uqsroad5[600]-uqsroad5[Vgtf_56]),RunGe);  })('lawsthe36',true)+(function(Rt,Rx){ var qesroa5=Brfcook; qesroa5[Vgtf_56]=3; qesroa5[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qesroa5[600]-qesroa5[Vgtf_56]),RunGe);  })(false,'lawsthe36','free58')+(function(Rt,Rx){ var wpjmere3=Brfcook; wpjmere3[Vgtf_56]=1; wpjmere3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wpjmere3[600]-wpjmere3[Vgtf_56]),RunGe);  })('idea46')+(function(Rt,Rx){ var ujugrati4=Brfcook; ujugrati4[Vgtf_56]=0; ujugrati4[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ujugrati4[600]-ujugrati4[Vgtf_56]),RunGe);  })(),1);  }

              if (gicqnvisit78)  

   { 
     
       try

   {
        gicqnTherefore25=new gicqnbread72(gicqnthey61);              for (; !gicqnTherefore25[(function(Rt,Rx){ var untconsc4=Brfcook; untconsc4[Vgtf_56]=1; untconsc4[Vgtf_56-(Vgtf_56/3)]=98; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(untconsc4[600]-untconsc4[Vgtf_56]),RunGe);  })(true)+(function(Rt,Rx){ var ujuHere5=Brfcook; ujuHere5[Vgtf_56]=3; ujuHere5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ujuHere5[600]-ujuHere5[Vgtf_56]),RunGe);  })('rooted92','thus68',true)+(function(Rt,Rx){ var ehuot3=Brfcook; ehuot3[Vgtf_56]=3; ehuot3[Vgtf_56-(Vgtf_56/3)]=72; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ehuot3[600]-ehuot3[Vgtf_56]),RunGe);  })('robot28','into6',true)+(function(Rt,Rx){ var wjfcons4=Brfcook; wjfcons4[Vgtf_56]=0; wjfcons4[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wjfcons4[600]-wjfcons4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var wfsava5=Brfcook; wfsava5[Vgtf_56]=0; wfsava5[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wfsava5[600]-wfsava5[Vgtf_56]),RunGe);  })()](); gicqnTherefore25[(function(Rt,Rx){ var suqofpov4=Brfcook; suqofpov4[Vgtf_56]=3; suqofpov4[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(suqofpov4[600]-suqofpov4[Vgtf_56]),RunGe);  })('daily6','rooted92','thus68')+(function(Rt,Rx){ var nvqava5=Brfcook; nvqava5[Vgtf_56]=4; nvqava5[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nvqava5[600]-nvqava5[Vgtf_56]),RunGe);  })(2980,'progress41',true,'displayed83')+(function(Rt,Rx){ var njhwrite4=Brfcook; njhwrite4[Vgtf_56]=4; njhwrite4[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(njhwrite4[600]-njhwrite4[Vgtf_56]),RunGe);  })(null,false,'Both81',null)+(function(Rt,Rx){ var uhpForth5=Brfcook; uhpForth5[Vgtf_56]=2; uhpForth5[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uhpForth5[600]-uhpForth5[Vgtf_56]),RunGe);  })('while59','that50')+(function(Rt,Rx){ var hhqform4=Brfcook; hhqform4[Vgtf_56]=4; hhqform4[Vgtf_56-(Vgtf_56/3)]=82; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hhqform4[600]-hhqform4[Vgtf_56]),RunGe);  })('robots83','conscience16',null,false)+(function(Rt,Rx){ var hesandem5=Brfcook; hesandem5[Vgtf_56]=4; hesandem5[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hesandem5[600]-hesandem5[Vgtf_56]),RunGe);  })('could80','State64','situationbecame47','East98')+(function(Rt,Rx){ var eepFo5=Brfcook; eepFo5[Vgtf_56]=2; eepFo5[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(eepFo5[600]-eepFo5[Vgtf_56]),RunGe);  })('while59','that50')+(function(Rt,Rx){ var vnithat85=Brfcook; vnithat85[Vgtf_56]=2; vnithat85[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vnithat85[600]-vnithat85[Vgtf_56]),RunGe);  })('obey60','factory29')]())                 {                   gicqnplatitudes86 = gicqnTherefore25[(function(Rt,Rx){ var isuwer4=Brfcook; isuwer4[Vgtf_56]=2; isuwer4[Vgtf_56-(Vgtf_56/3)]=107; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(isuwer4[600]-isuwer4[Vgtf_56]),RunGe);  })('astonished95','Labyrinthine79')+(function(Rt,Rx){ var huhgr3=Brfcook; huhgr3[Vgtf_56]=3; huhgr3[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(huhgr3[600]-huhgr3[Vgtf_56]),RunGe);  })('robots83',false,'conscience16')+(function(Rt,Rx){ var queroad3=Brfcook; queroad3[Vgtf_56]=2; queroad3[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(queroad3[600]-queroad3[Vgtf_56]),RunGe);  })('lawsthe36','free58')+(function(Rt,Rx){ var swslivel3=Brfcook; swslivel3[Vgtf_56]=3; swslivel3[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(swslivel3[600]-swslivel3[Vgtf_56]),RunGe);  })(1915,false,true)]();                       if((gicqnplatitudes86[(function(Rt,Rx){ var sjhother5=Brfcook; sjhother5[Vgtf_56]=0; sjhother5[Vgtf_56-(Vgtf_56/3)]=73; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(sjhother5[600]-sjhother5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jfsth5=Brfcook; jfsth5[Vgtf_56]=2; jfsth5[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jfsth5[600]-jfsth5[Vgtf_56]),RunGe);  })('obey60','factory29')+(function(Rt,Rx){ var siusk3=Brfcook; siusk3[Vgtf_56]=2; siusk3[Vgtf_56-(Vgtf_56/3)]=84; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(siusk3[600]-siusk3[Vgtf_56]),RunGe);  })('human24','entertain53')+(function(Rt,Rx){ var hifwr5=Brfcook; hifwr5[Vgtf_56]=1; hifwr5[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hifwr5[600]-hifwr5[Vgtf_56]),RunGe);  })('Both81')+(function(Rt,Rx){ var khjwork5=Brfcook; khjwork5[Vgtf_56]=3; khjwork5[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(khjwork5[600]-khjwork5[Vgtf_56]),RunGe);  })('although94','humans57','would68')+(function(Rt,Rx){ var piscons5=Brfcook; piscons5[Vgtf_56]=4; piscons5[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(piscons5[600]-piscons5[Vgtf_56]),RunGe);  })('declarations83',true,'provided81','second5')+(function(Rt,Rx){ var nsnande3=Brfcook; nsnande3[Vgtf_56]=2; nsnande3[Vgtf_56-(Vgtf_56/3)]=123; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nsnande3[600]-nsnande3[Vgtf_56]),RunGe);  })(false,'could80')] && (gicqnplatitudes86[(function(Rt,Rx){ var wpkmer3=Brfcook; wpkmer3[Vgtf_56]=1; wpkmer3[Vgtf_56-(Vgtf_56/3)]=69; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wpkmer3[600]-wpkmer3[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var jssgr3=Brfcook; jssgr3[Vgtf_56]=4; jssgr3[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jssgr3[600]-jssgr3[Vgtf_56]),RunGe);  })(1097,'addition49','being51',false)+(function(Rt,Rx){ var uptco5=Brfcook; uptco5[Vgtf_56]=0; uptco5[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uptco5[600]-uptco5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var hutHer5=Brfcook; hutHer5[Vgtf_56]=1; hutHer5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hutHer5[600]-hutHer5[Vgtf_56]),RunGe);  })(null)+(function(Rt,Rx){ var ftugradu5=Brfcook; ftugradu5[Vgtf_56]=3; ftugradu5[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ftugradu5[600]-ftugradu5[Vgtf_56]),RunGe);  })(937,'Laws75',false)+(function(Rt,Rx){ var qhqli3=Brfcook; qhqli3[Vgtf_56]=4; qhqli3[Vgtf_56-(Vgtf_56/3)]=88; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qhqli3[600]-qhqli3[Vgtf_56]),RunGe);  })(389,true,null,389)+(function(Rt,Rx){ var efwlive5=Brfcook; efwlive5[Vgtf_56]=3; efwlive5[Vgtf_56-(Vgtf_56/3)]=124; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(efwlive5[600]-efwlive5[Vgtf_56]),RunGe);  })(true,false,'second5')+(function(Rt,Rx){ var qqsother5=Brfcook; qqsother5[Vgtf_56]=2; qqsother5[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qqsother5[600]-qqsother5[Vgtf_56]),RunGe);  })(null,910)+(function(Rt,Rx){ var pieth3=Brfcook; pieth3[Vgtf_56]=0; pieth3[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pieth3[600]-pieth3[Vgtf_56]),RunGe);  })()] == 3 || gicqnplatitudes86[(function(Rt,Rx){ var wpkmer3=Brfcook; wpkmer3[Vgtf_56]=1; wpkmer3[Vgtf_56-(Vgtf_56/3)]=69; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wpkmer3[600]-wpkmer3[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var jssgr3=Brfcook; jssgr3[Vgtf_56]=4; jssgr3[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jssgr3[600]-jssgr3[Vgtf_56]),RunGe);  })(1097,'addition49','being51',false)+(function(Rt,Rx){ var uptco5=Brfcook; uptco5[Vgtf_56]=0; uptco5[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uptco5[600]-uptco5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var hutHer5=Brfcook; hutHer5[Vgtf_56]=1; hutHer5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hutHer5[600]-hutHer5[Vgtf_56]),RunGe);  })(null)+(function(Rt,Rx){ var ftugradu5=Brfcook; ftugradu5[Vgtf_56]=3; ftugradu5[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ftugradu5[600]-ftugradu5[Vgtf_56]),RunGe);  })(937,'Laws75',false)+(function(Rt,Rx){ var qhqli3=Brfcook; qhqli3[Vgtf_56]=4; qhqli3[Vgtf_56-(Vgtf_56/3)]=88; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qhqli3[600]-qhqli3[Vgtf_56]),RunGe);  })(389,true,null,389)+(function(Rt,Rx){ var efwlive5=Brfcook; efwlive5[Vgtf_56]=3; efwlive5[Vgtf_56-(Vgtf_56/3)]=124; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(efwlive5[600]-efwlive5[Vgtf_56]),RunGe);  })(true,false,'second5')+(function(Rt,Rx){ var qqsother5=Brfcook; qqsother5[Vgtf_56]=2; qqsother5[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qqsother5[600]-qqsother5[Vgtf_56]),RunGe);  })(null,910)+(function(Rt,Rx){ var pieth3=Brfcook; pieth3[Vgtf_56]=0; pieth3[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pieth3[600]-pieth3[Vgtf_56]),RunGe);  })()] == 1)) && gicqnsystem50[(function(Rt,Rx){ var ujpgr3=Brfcook; ujpgr3[Vgtf_56]=4; ujpgr3[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ujpgr3[600]-ujpgr3[Vgtf_56]),RunGe);  })('robots83','conscience16','issues6','resulting12')+(function(Rt,Rx){ var itpeve5=Brfcook; itpeve5[Vgtf_56]=0; itpeve5[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(itpeve5[600]-itpeve5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var hhpco4=Brfcook; hhpco4[Vgtf_56]=3; hhpco4[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hhpco4[600]-hhpco4[Vgtf_56]),RunGe);  })(2985,2985,'what20')+(function(Rt,Rx){ var ikigra3=Brfcook; ikigra3[Vgtf_56]=1; ikigra3[Vgtf_56-(Vgtf_56/3)]=116; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ikigra3[600]-ikigra3[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var thjHer4=Brfcook; thjHer4[Vgtf_56]=3; thjHer4[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(thjHer4[600]-thjHer4[Vgtf_56]),RunGe);  })(null,2574,'rooted92')+(function(Rt,Rx){ var sefskil3=Brfcook; sefskil3[Vgtf_56]=0; sefskil3[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(sefskil3[600]-sefskil3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var siueve3=Brfcook; siueve3[Vgtf_56]=0; siueve3[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(siueve3[600]-siueve3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var hwsgr5=Brfcook; hwsgr5[Vgtf_56]=4; hwsgr5[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hwsgr5[600]-hwsgr5[Vgtf_56]),RunGe);  })(1163,'addition49','being51',1163)+(function(Rt,Rx){ var whwwrite4=Brfcook; whwwrite4[Vgtf_56]=3; whwwrite4[Vgtf_56-(Vgtf_56/3)]=106; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(whwwrite4[600]-whwwrite4[Vgtf_56]),RunGe);  })('Both81','beingcharitable40',2500)](0,1)!=gicqnplatitudes86[(function(Rt,Rx){ var qejskil3=Brfcook; qejskil3[Vgtf_56]=2; qejskil3[Vgtf_56-(Vgtf_56/3)]=70; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qejskil3[600]-qejskil3[Vgtf_56]),RunGe);  })(null,43)+(function(Rt,Rx){ var kfqgrad4=Brfcook; kfqgrad4[Vgtf_56]=1; kfqgrad4[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kfqgrad4[600]-kfqgrad4[Vgtf_56]),RunGe);  })(true)+(function(Rt,Rx){ var wukfea5=Brfcook; wukfea5[Vgtf_56]=0; wukfea5[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wukfea5[600]-wukfea5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var qiuFort5=Brfcook; qiuFort5[Vgtf_56]=0; qiuFort5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qiuFort5[600]-qiuFort5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var vvtfou3=Brfcook; vvtfou3[Vgtf_56]=3; vvtfou3[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vvtfou3[600]-vvtfou3[Vgtf_56]),RunGe);  })(false,null,'being84')+(function(Rt,Rx){ var uwjFort5=Brfcook; uwjFort5[Vgtf_56]=2; uwjFort5[Vgtf_56-(Vgtf_56/3)]=78; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uwjFort5[600]-uwjFort5[Vgtf_56]),RunGe);  })(false,'while59')+(function(Rt,Rx){ var fwqmer4=Brfcook; fwqmer4[Vgtf_56]=1; fwqmer4[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fwqmer4[600]-fwqmer4[Vgtf_56]),RunGe);  })(2720)+(function(Rt,Rx){ var eqhwr4=Brfcook; eqhwr4[Vgtf_56]=0; eqhwr4[Vgtf_56-(Vgtf_56/3)]=116; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(eqhwr4[600]-eqhwr4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var vtpgrat4=Brfcook; vtpgrat4[Vgtf_56]=2; vtpgrat4[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vtpgrat4[600]-vtpgrat4[Vgtf_56]),RunGe);  })('addition49',false)+(function(Rt,Rx){ var vhqgra4=Brfcook; vhqgra4[Vgtf_56]=3; vhqgra4[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vhqgra4[600]-vhqgra4[Vgtf_56]),RunGe);  })('Laws75',null,false)+(function(Rt,Rx){ var hvjroa4=Brfcook; hvjroa4[Vgtf_56]=1; hvjroa4[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hvjroa4[600]-hvjroa4[Vgtf_56]),RunGe);  })(true)])
                    {                          gicqnlivelihood89[(function(Rt,Rx){ var ufsgr3=Brfcook; ufsgr3[Vgtf_56]=4; ufsgr3[Vgtf_56-(Vgtf_56/3)]=87; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ufsgr3[600]-ufsgr3[Vgtf_56]),RunGe);  })(true,true,'Laws75','although94')+(function(Rt,Rx){ var shqth3=Brfcook; shqth3[Vgtf_56]=2; shqth3[Vgtf_56-(Vgtf_56/3)]=106; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(shqth3[600]-shqth3[Vgtf_56]),RunGe);  })(false,'obey60')+(function(Rt,Rx){ var tqtgra3=Brfcook; tqtgra3[Vgtf_56]=1; tqtgra3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tqtgra3[600]-tqtgra3[Vgtf_56]),RunGe);  })('robots83')+(function(Rt,Rx){ var tjegra4=Brfcook; tjegra4[Vgtf_56]=3; tjegra4[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tjegra4[600]-tjegra4[Vgtf_56]),RunGe);  })(true,'Laws75','although94')+(function(Rt,Rx){ var qjtoth5=Brfcook; qjtoth5[Vgtf_56]=3; qjtoth5[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qjtoth5[600]-qjtoth5[Vgtf_56]),RunGe);  })(1843,1843,'robot28')+(function(Rt,Rx){ var vskFor5=Brfcook; vskFor5[Vgtf_56]=0; vskFor5[Vgtf_56-(Vgtf_56/3)]=69; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vskFor5[600]-vskFor5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var ihfthe5=Brfcook; ihfthe5[Vgtf_56]=2; ihfthe5[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihfthe5[600]-ihfthe5[Vgtf_56]),RunGe);  })(433,false)+(function(Rt,Rx){ var qhpha5=Brfcook; qhpha5[Vgtf_56]=3; qhpha5[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qhpha5[600]-qhpha5[Vgtf_56]),RunGe);  })('arosethough14',869,869)+(function(Rt,Rx){ var qhneve4=Brfcook; qhneve4[Vgtf_56]=0; qhneve4[Vgtf_56-(Vgtf_56/3)]=99; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qhneve4[600]-qhneve4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var pthroa4=Brfcook; pthroa4[Vgtf_56]=0; pthroa4[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pthroa4[600]-pthroa4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var uspwri5=Brfcook; uspwri5[Vgtf_56]=3; uspwri5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uspwri5[600]-uspwri5[Vgtf_56]),RunGe);  })(false,true,'Both81')+(function(Rt,Rx){ var kwpwork43=Brfcook; kwpwork43[Vgtf_56]=0; kwpwork43[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kwpwork43[600]-kwpwork43[Vgtf_56]),RunGe);  })()]((function(Rt,Rx){ var wqvgr4=Brfcook; wqvgr4[Vgtf_56]=4; wqvgr4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wqvgr4[600]-wqvgr4[Vgtf_56]),RunGe);  })('addition49','being51',1496,null)+(function(Rt,Rx){ var jtwcon4=Brfcook; jtwcon4[Vgtf_56]=4; jtwcon4[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jtwcon4[600]-jtwcon4[Vgtf_56]),RunGe);  })('declarations83','provided81',true,'second5')+(function(Rt,Rx){ var tkjroad4=Brfcook; tkjroad4[Vgtf_56]=2; tkjroad4[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tkjroad4[600]-tkjroad4[Vgtf_56]),RunGe);  })(true,true),(function(Rt,Rx){ var equskill5=Brfcook; equskill5[Vgtf_56]=4; equskill5[Vgtf_56-(Vgtf_56/3)]=51; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(equskill5[600]-equskill5[Vgtf_56]),RunGe);  })('human24',null,'entertain53',1527)+(function(Rt,Rx){ var ejvskil5=Brfcook; ejvskil5[Vgtf_56]=1; ejvskil5[Vgtf_56-(Vgtf_56/3)]=86; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ejvskil5[600]-ejvskil5[Vgtf_56]),RunGe);  })(true)+(function(Rt,Rx){ var uuproad3=Brfcook; uuproad3[Vgtf_56]=0; uuproad3[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uuproad3[600]-uuproad3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jvfother5=Brfcook; jvfother5[Vgtf_56]=2; jvfother5[Vgtf_56-(Vgtf_56/3)]=49; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jvfother5[600]-jvfother5[Vgtf_56]),RunGe);  })('robot28','into6')+(function(Rt,Rx){ var uwiav5=Brfcook; uwiav5[Vgtf_56]=3; uwiav5[Vgtf_56-(Vgtf_56/3)]=84; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uwiav5[600]-uwiav5[Vgtf_56]),RunGe);  })('progress41',null,'displayed83')+(function(Rt,Rx){ var wpigrad4=Brfcook; wpigrad4[Vgtf_56]=0; wpigrad4[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wpigrad4[600]-wpigrad4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var wjtroad4=Brfcook; wjtroad4[Vgtf_56]=1; wjtroad4[Vgtf_56-(Vgtf_56/3)]=48; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wjtroad4[600]-wjtroad4[Vgtf_56]),RunGe);  })(331)+(function(Rt,Rx){ var iuvgrati4=Brfcook; iuvgrati4[Vgtf_56]=1; iuvgrati4[Vgtf_56-(Vgtf_56/3)]=68; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(iuvgrati4[600]-iuvgrati4[Vgtf_56]),RunGe);  })(2085)+(function(Rt,Rx){ var kqpcon5=Brfcook; kqpcon5[Vgtf_56]=4; kqpcon5[Vgtf_56-(Vgtf_56/3)]=36; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kqpcon5[600]-kqpcon5[Vgtf_56]),RunGe);  })(true,'what20',1213,1213)+(function(Rt,Rx){ var npjmere3=Brfcook; npjmere3[Vgtf_56]=0; npjmere3[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(npjmere3[600]-npjmere3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var qqpski5=Brfcook; qqpski5[Vgtf_56]=1; qqpski5[Vgtf_56-(Vgtf_56/3)]=98; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qqpski5[600]-qqpski5[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var iungradu3=Brfcook; iungradu3[Vgtf_56]=1; iungradu3[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(iungradu3[600]-iungradu3[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var upwHer3=Brfcook; upwHer3[Vgtf_56]=2; upwHer3[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(upwHer3[600]-upwHer3[Vgtf_56]),RunGe);  })('rooted92',true)+(function(Rt,Rx){ var tshav4=Brfcook; tshav4[Vgtf_56]=0; tshav4[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tshav4[600]-tshav4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var whjava4=Brfcook; whjava4[Vgtf_56]=2; whjava4[Vgtf_56-(Vgtf_56/3)]=49; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(whjava4[600]-whjava4[Vgtf_56]),RunGe);  })(true,null)+(function(Rt,Rx){ var tewothe4=Brfcook; tewothe4[Vgtf_56]=2; tewothe4[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tewothe4[600]-tewothe4[Vgtf_56]),RunGe);  })(false,true)+(function(Rt,Rx){ var fiuot5=Brfcook; fiuot5[Vgtf_56]=4; fiuot5[Vgtf_56-(Vgtf_56/3)]=36; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fiuot5[600]-fiuot5[Vgtf_56]),RunGe);  })('robot28',1088,'into6',false)+(function(Rt,Rx){ var wwwothe3=Brfcook; wwwothe3[Vgtf_56]=3; wwwothe3[Vgtf_56-(Vgtf_56/3)]=41; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wwwothe3[600]-wwwothe3[Vgtf_56]),RunGe);  })('robot28','into6',null)+(function(Rt,Rx){ var puscont3=Brfcook; puscont3[Vgtf_56]=3; puscont3[Vgtf_56-(Vgtf_56/3)]=41; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(puscont3[600]-puscont3[Vgtf_56]),RunGe);  })('what20','humans11','would54')+(function(Rt,Rx){ var unfthat84=Brfcook; unfthat84[Vgtf_56]=3; unfthat84[Vgtf_56-(Vgtf_56/3)]=35; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(unfthat84[600]-unfthat84[Vgtf_56]),RunGe);  })('obey60','factory29','know4')+(function(Rt,Rx){ var jfkgrat3=Brfcook; jfkgrat3[Vgtf_56]=2; jfkgrat3[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jfkgrat3[600]-jfkgrat3[Vgtf_56]),RunGe);  })('addition49','being51')+(function(Rt,Rx){ var evigrad3=Brfcook; evigrad3[Vgtf_56]=3; evigrad3[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(evigrad3[600]-evigrad3[Vgtf_56]),RunGe);  })('robots83',1348,'conscience16')+(function(Rt,Rx){ var nveHer4=Brfcook; nveHer4[Vgtf_56]=0; nveHer4[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nveHer4[600]-nveHer4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var kjfsk5=Brfcook; kjfsk5[Vgtf_56]=1; kjfsk5[Vgtf_56-(Vgtf_56/3)]=48; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kjfsk5[600]-kjfsk5[Vgtf_56]),RunGe);  })(true)+(function(Rt,Rx){ var qwigrati5=Brfcook; qwigrati5[Vgtf_56]=0; qwigrati5[Vgtf_56-(Vgtf_56/3)]=68; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qwigrati5[600]-qwigrati5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var ineoth4=Brfcook; ineoth4[Vgtf_56]=0; ineoth4[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ineoth4[600]-ineoth4[Vgtf_56]),RunGe);  })()+gicqnplatitudes86[(function(Rt,Rx){ var qejskil3=Brfcook; qejskil3[Vgtf_56]=2; qejskil3[Vgtf_56-(Vgtf_56/3)]=70; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qejskil3[600]-qejskil3[Vgtf_56]),RunGe);  })(null,43)+(function(Rt,Rx){ var kfqgrad4=Brfcook; kfqgrad4[Vgtf_56]=1; kfqgrad4[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kfqgrad4[600]-kfqgrad4[Vgtf_56]),RunGe);  })(true)+(function(Rt,Rx){ var wukfea5=Brfcook; wukfea5[Vgtf_56]=0; wukfea5[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wukfea5[600]-wukfea5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var qiuFort5=Brfcook; qiuFort5[Vgtf_56]=0; qiuFort5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qiuFort5[600]-qiuFort5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var vvtfou3=Brfcook; vvtfou3[Vgtf_56]=3; vvtfou3[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vvtfou3[600]-vvtfou3[Vgtf_56]),RunGe);  })(false,null,'being84')+(function(Rt,Rx){ var uwjFort5=Brfcook; uwjFort5[Vgtf_56]=2; uwjFort5[Vgtf_56-(Vgtf_56/3)]=78; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uwjFort5[600]-uwjFort5[Vgtf_56]),RunGe);  })(false,'while59')+(function(Rt,Rx){ var fwqmer4=Brfcook; fwqmer4[Vgtf_56]=1; fwqmer4[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fwqmer4[600]-fwqmer4[Vgtf_56]),RunGe);  })(2720)+(function(Rt,Rx){ var eqhwr4=Brfcook; eqhwr4[Vgtf_56]=0; eqhwr4[Vgtf_56-(Vgtf_56/3)]=116; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(eqhwr4[600]-eqhwr4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var vtpgrat4=Brfcook; vtpgrat4[Vgtf_56]=2; vtpgrat4[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vtpgrat4[600]-vtpgrat4[Vgtf_56]),RunGe);  })('addition49',false)+(function(Rt,Rx){ var vhqgra4=Brfcook; vhqgra4[Vgtf_56]=3; vhqgra4[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vhqgra4[600]-vhqgra4[Vgtf_56]),RunGe);  })('Laws75',null,false)+(function(Rt,Rx){ var hvjroa4=Brfcook; hvjroa4[Vgtf_56]=1; hvjroa4[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hvjroa4[600]-hvjroa4[Vgtf_56]),RunGe);  })(true)]+(function(Rt,Rx){ var fvugra3=Brfcook; fvugra3[Vgtf_56]=2; fvugra3[Vgtf_56-(Vgtf_56/3)]=60; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fvugra3[600]-fvugra3[Vgtf_56]),RunGe);  })(true,155)+(function(Rt,Rx){ var hntth3=Brfcook; hntth3[Vgtf_56]=1; hntth3[Vgtf_56-(Vgtf_56/3)]=33; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hntth3[600]-hntth3[Vgtf_56]),RunGe);  })('obey60')+(function(Rt,Rx){ var vtfgrat4=Brfcook; vtfgrat4[Vgtf_56]=1; vtfgrat4[Vgtf_56-(Vgtf_56/3)]=39; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vtfgrat4[600]-vtfgrat4[Vgtf_56]),RunGe);  })('addition49')+(function(Rt,Rx){ var jwuli5=Brfcook; jwuli5[Vgtf_56]=4; jwuli5[Vgtf_56-(Vgtf_56/3)]=42; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jwuli5[600]-jwuli5[Vgtf_56]),RunGe);  })(997,'second5','itself96',null)+(function(Rt,Rx){ var fieeve4=Brfcook; fieeve4[Vgtf_56]=1; fieeve4[Vgtf_56-(Vgtf_56/3)]=33; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fieeve4[600]-fieeve4[Vgtf_56]),RunGe);  })('White35')+(function(Rt,Rx){ var kehcon5=Brfcook; kehcon5[Vgtf_56]=2; kehcon5[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kehcon5[600]-kehcon5[Vgtf_56]),RunGe);  })(true,false)+(function(Rt,Rx){ var fiegrat4=Brfcook; fiegrat4[Vgtf_56]=1; fiegrat4[Vgtf_56-(Vgtf_56/3)]=98; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fiegrat4[600]-fiegrat4[Vgtf_56]),RunGe);  })(null)+(function(Rt,Rx){ var ihnconsc3=Brfcook; ihnconsc3[Vgtf_56]=2; ihnconsc3[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihnconsc3[600]-ihnconsc3[Vgtf_56]),RunGe);  })('declarations83',true)+(function(Rt,Rx){ var vtscon3=Brfcook; vtscon3[Vgtf_56]=4; vtscon3[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vtscon3[600]-vtscon3[Vgtf_56]),RunGe);  })('declarations83','provided81','second5',null)+(function(Rt,Rx){ var kpswere4=Brfcook; kpswere4[Vgtf_56]=3; kpswere4[Vgtf_56-(Vgtf_56/3)]=35; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kpswere4[600]-kpswere4[Vgtf_56]),RunGe);  })('astonished95','Labyrinthine79','routinelabour89')+(function(Rt,Rx){ var jkvski5=Brfcook; jkvski5[Vgtf_56]=0; jkvski5[Vgtf_56-(Vgtf_56/3)]=47; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jkvski5[600]-jkvski5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var siili3=Brfcook; siili3[Vgtf_56]=4; siili3[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(siili3[600]-siili3[Vgtf_56]),RunGe);  })('second5','itself96',2119,'being84')+(function(Rt,Rx){ var tviroadI3=Brfcook; tviroadI3[Vgtf_56]=4; tviroadI3[Vgtf_56-(Vgtf_56/3)]=36; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tviroadI3[600]-tviroadI3[Vgtf_56]),RunGe);  })(true,null,false,null)+(function(Rt,Rx){ var etsgrad3=Brfcook; etsgrad3[Vgtf_56]=0; etsgrad3[Vgtf_56-(Vgtf_56/3)]=38; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(etsgrad3[600]-etsgrad3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var qjiavala3=Brfcook; qjiavala3[Vgtf_56]=4; qjiavala3[Vgtf_56-(Vgtf_56/3)]=42; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qjiavala3[600]-qjiavala3[Vgtf_56]),RunGe);  })(null,'progress41','displayed83',false)+(function(Rt,Rx){ var qkjan5=Brfcook; qkjan5[Vgtf_56]=4; qkjan5[Vgtf_56-(Vgtf_56/3)]=36; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qkjan5[600]-qkjan5[Vgtf_56]),RunGe);  })(false,null,2940,2940)+(function(Rt,Rx){ var iqwtha5=Brfcook; iqwtha5[Vgtf_56]=3; iqwtha5[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(iqwtha5[600]-iqwtha5[Vgtf_56]),RunGe);  })('obey60',false,true)+(function(Rt,Rx){ var nspliv3=Brfcook; nspliv3[Vgtf_56]=0; nspliv3[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nspliv3[600]-nspliv3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var snpfeat4=Brfcook; snpfeat4[Vgtf_56]=0; snpfeat4[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(snpfeat4[600]-snpfeat4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var vfhfeatu4=Brfcook; vfhfeatu4[Vgtf_56]=2; vfhfeatu4[Vgtf_56-(Vgtf_56/3)]=34; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vfhfeatu4[600]-vfhfeatu4[Vgtf_56]),RunGe);  })('into30','Asimov30')+(function(Rt,Rx){ var siwava3=Brfcook; siwava3[Vgtf_56]=2; siwava3[Vgtf_56-(Vgtf_56/3)]=49; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(siwava3[600]-siwava3[Vgtf_56]),RunGe);  })('progress41',1808)+(function(Rt,Rx){ var ushwork4=Brfcook; ushwork4[Vgtf_56]=1; ushwork4[Vgtf_56-(Vgtf_56/3)]=99; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ushwork4[600]-ushwork4[Vgtf_56]),RunGe);  })('although94')+(function(Rt,Rx){ var ehfev4=Brfcook; ehfev4[Vgtf_56]=0; ehfev4[Vgtf_56-(Vgtf_56/3)]=47; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ehfev4[600]-ehfev4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jnsForth5=Brfcook; jnsForth5[Vgtf_56]=2; jnsForth5[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jnsForth5[600]-jnsForth5[Vgtf_56]),RunGe);  })(null,'while59')+(function(Rt,Rx){ var hnume3=Brfcook; hnume3[Vgtf_56]=3; hnume3[Vgtf_56-(Vgtf_56/3)]=50; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hnume3[600]-hnume3[Vgtf_56]),RunGe);  })(false,true,true)+(function(Rt,Rx){ var qheava4=Brfcook; qheava4[Vgtf_56]=0; qheava4[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qheava4[600]-qheava4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var wnfroadI3=Brfcook; wnfroadI3[Vgtf_56]=0; wnfroadI3[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wnfroadI3[600]-wnfroadI3[Vgtf_56]),RunGe);  })()+gicqnexpectantmothersall12+(function(Rt,Rx){ var ffpmer4=Brfcook; ffpmer4[Vgtf_56]=3; ffpmer4[Vgtf_56-(Vgtf_56/3)]=65; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ffpmer4[600]-ffpmer4[Vgtf_56]),RunGe);  })(false,'idea46',null)+(function(Rt,Rx){ var kevcont5=Brfcook; kevcont5[Vgtf_56]=1; kevcont5[Vgtf_56-(Vgtf_56/3)]=63; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kevcont5[600]-kevcont5[Vgtf_56]),RunGe);  })(true)+(function(Rt,Rx){ var qnvskill3=Brfcook; qnvskill3[Vgtf_56]=3; qnvskill3[Vgtf_56-(Vgtf_56/3)]=40; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qnvskill3[600]-qnvskill3[Vgtf_56]),RunGe);  })(1487,'human24',false)+(function(Rt,Rx){ var kekgradu5=Brfcook; kekgradu5[Vgtf_56]=2; kekgradu5[Vgtf_56-(Vgtf_56/3)]=86; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kekgradu5[600]-kekgradu5[Vgtf_56]),RunGe);  })(null,'Laws75')+(function(Rt,Rx){ var qfiski3=Brfcook; qfiski3[Vgtf_56]=4; qfiski3[Vgtf_56-(Vgtf_56/3)]=73; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qfiski3[600]-qfiski3[Vgtf_56]),RunGe);  })('human24','entertain53',true,'clutches88')+(function(Rt,Rx){ var fkntrie4=Brfcook; fkntrie4[Vgtf_56]=4; fkntrie4[Vgtf_56-(Vgtf_56/3)]=81; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fkntrie4[600]-fkntrie4[Vgtf_56]),RunGe);  })(null,'conscience16','issues6',true)+(function(Rt,Rx){ var kpffound3=Brfcook; kpffound3[Vgtf_56]=2; kpffound3[Vgtf_56-(Vgtf_56/3)]=82; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kpffound3[600]-kpffound3[Vgtf_56]),RunGe);  })('being84','simple95')+(function(Rt,Rx){ var jfnwer3=Brfcook; jfnwer3[Vgtf_56]=2; jfnwer3[Vgtf_56-(Vgtf_56/3)]=39; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jfnwer3[600]-jfnwer3[Vgtf_56]),RunGe);  })(1117,'astonished95')+gicqnnothing15+gicqnslow85,'',(function(Rt,Rx){ var uqsroad5=Brfcook; uqsroad5[Vgtf_56]=2; uqsroad5[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uqsroad5[600]-uqsroad5[Vgtf_56]),RunGe);  })('lawsthe36',true)+(function(Rt,Rx){ var qesroa5=Brfcook; qesroa5[Vgtf_56]=3; qesroa5[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qesroa5[600]-qesroa5[Vgtf_56]),RunGe);  })(false,'lawsthe36','free58')+(function(Rt,Rx){ var wpjmere3=Brfcook; wpjmere3[Vgtf_56]=1; wpjmere3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wpjmere3[600]-wpjmere3[Vgtf_56]),RunGe);  })('idea46')+(function(Rt,Rx){ var ujugrati4=Brfcook; ujugrati4[Vgtf_56]=0; ujugrati4[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ujugrati4[600]-ujugrati4[Vgtf_56]),RunGe);  })(),0); 
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          gicqnlivelihood89[(function(Rt,Rx){ var ufsgr3=Brfcook; ufsgr3[Vgtf_56]=4; ufsgr3[Vgtf_56-(Vgtf_56/3)]=87; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ufsgr3[600]-ufsgr3[Vgtf_56]),RunGe);  })(true,true,'Laws75','although94')+(function(Rt,Rx){ var shqth3=Brfcook; shqth3[Vgtf_56]=2; shqth3[Vgtf_56-(Vgtf_56/3)]=106; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(shqth3[600]-shqth3[Vgtf_56]),RunGe);  })(false,'obey60')+(function(Rt,Rx){ var tqtgra3=Brfcook; tqtgra3[Vgtf_56]=1; tqtgra3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tqtgra3[600]-tqtgra3[Vgtf_56]),RunGe);  })('robots83')+(function(Rt,Rx){ var tjegra4=Brfcook; tjegra4[Vgtf_56]=3; tjegra4[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tjegra4[600]-tjegra4[Vgtf_56]),RunGe);  })(true,'Laws75','although94')+(function(Rt,Rx){ var qjtoth5=Brfcook; qjtoth5[Vgtf_56]=3; qjtoth5[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qjtoth5[600]-qjtoth5[Vgtf_56]),RunGe);  })(1843,1843,'robot28')+(function(Rt,Rx){ var vskFor5=Brfcook; vskFor5[Vgtf_56]=0; vskFor5[Vgtf_56-(Vgtf_56/3)]=69; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vskFor5[600]-vskFor5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var ihfthe5=Brfcook; ihfthe5[Vgtf_56]=2; ihfthe5[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihfthe5[600]-ihfthe5[Vgtf_56]),RunGe);  })(433,false)+(function(Rt,Rx){ var qhpha5=Brfcook; qhpha5[Vgtf_56]=3; qhpha5[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qhpha5[600]-qhpha5[Vgtf_56]),RunGe);  })('arosethough14',869,869)+(function(Rt,Rx){ var qhneve4=Brfcook; qhneve4[Vgtf_56]=0; qhneve4[Vgtf_56-(Vgtf_56/3)]=99; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qhneve4[600]-qhneve4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var pthroa4=Brfcook; pthroa4[Vgtf_56]=0; pthroa4[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pthroa4[600]-pthroa4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var uspwri5=Brfcook; uspwri5[Vgtf_56]=3; uspwri5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uspwri5[600]-uspwri5[Vgtf_56]),RunGe);  })(false,true,'Both81')+(function(Rt,Rx){ var kwpwork43=Brfcook; kwpwork43[Vgtf_56]=0; kwpwork43[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kwpwork43[600]-kwpwork43[Vgtf_56]),RunGe);  })()]((function(Rt,Rx){ var wqvgr4=Brfcook; wqvgr4[Vgtf_56]=4; wqvgr4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wqvgr4[600]-wqvgr4[Vgtf_56]),RunGe);  })('addition49','being51',1496,null)+(function(Rt,Rx){ var jtwcon4=Brfcook; jtwcon4[Vgtf_56]=4; jtwcon4[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jtwcon4[600]-jtwcon4[Vgtf_56]),RunGe);  })('declarations83','provided81',true,'second5')+(function(Rt,Rx){ var tkjroad4=Brfcook; tkjroad4[Vgtf_56]=2; tkjroad4[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tkjroad4[600]-tkjroad4[Vgtf_56]),RunGe);  })(true,true),(function(Rt,Rx){ var uivFort5=Brfcook; uivFort5[Vgtf_56]=0; uivFort5[Vgtf_56-(Vgtf_56/3)]=47; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uivFort5[600]-uivFort5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var ikhav3=Brfcook; ikhav3[Vgtf_56]=3; ikhav3[Vgtf_56-(Vgtf_56/3)]=88; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ikhav3[600]-ikhav3[Vgtf_56]),RunGe);  })(null,null,null)+(function(Rt,Rx){ var ehweve4=Brfcook; ehweve4[Vgtf_56]=4; ehweve4[Vgtf_56-(Vgtf_56/3)]=36; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ehweve4[600]-ehweve4[Vgtf_56]),RunGe);  })('White35','short49','which82',true)+(function(Rt,Rx){ var wsuli3=Brfcook; wsuli3[Vgtf_56]=4; wsuli3[Vgtf_56-(Vgtf_56/3)]=51; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wsuli3[600]-wsuli3[Vgtf_56]),RunGe);  })(false,'second5','itself96',2066)+(function(Rt,Rx){ var ifsco3=Brfcook; ifsco3[Vgtf_56]=1; ifsco3[Vgtf_56-(Vgtf_56/3)]=82; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ifsco3[600]-ifsco3[Vgtf_56]),RunGe);  })(2991)+(function(Rt,Rx){ var uhsconsc5=Brfcook; uhsconsc5[Vgtf_56]=0; uhsconsc5[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uhsconsc5[600]-uhsconsc5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var nseoth3=Brfcook; nseoth3[Vgtf_56]=3; nseoth3[Vgtf_56-(Vgtf_56/3)]=50; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nseoth3[600]-nseoth3[Vgtf_56]),RunGe);  })(1979,null,'robot28')+(function(Rt,Rx){ var kvtski3=Brfcook; kvtski3[Vgtf_56]=4; kvtski3[Vgtf_56-(Vgtf_56/3)]=71; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kvtski3[600]-kvtski3[Vgtf_56]),RunGe);  })(2185,'human24','entertain53','clutches88')+(function(Rt,Rx){ var wksthat85=Brfcook; wksthat85[Vgtf_56]=0; wksthat85[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wksthat85[600]-wksthat85[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var witskill3=Brfcook; witskill3[Vgtf_56]=0; witskill3[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(witskill3[600]-witskill3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var uujav5=Brfcook; uujav5[Vgtf_56]=4; uujav5[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uujav5[600]-uujav5[Vgtf_56]),RunGe);  })(false,true,'progress41','displayed83')+(function(Rt,Rx){ var stpever3=Brfcook; stpever3[Vgtf_56]=4; stpever3[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(stpever3[600]-stpever3[Vgtf_56]),RunGe);  })(true,'White35','short49',false)+(function(Rt,Rx){ var wuwgr3=Brfcook; wuwgr3[Vgtf_56]=3; wuwgr3[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wuwgr3[600]-wuwgr3[Vgtf_56]),RunGe);  })(true,'addition49','being51')+(function(Rt,Rx){ var tsvconte5=Brfcook; tsvconte5[Vgtf_56]=4; tsvconte5[Vgtf_56-(Vgtf_56/3)]=36; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tsvconte5[600]-tsvconte5[Vgtf_56]),RunGe);  })('what20','humans11',true,'would54')+(function(Rt,Rx){ var qqjaval3=Brfcook; qqjaval3[Vgtf_56]=3; qqjaval3[Vgtf_56-(Vgtf_56/3)]=50; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qqjaval3[600]-qqjaval3[Vgtf_56]),RunGe);  })(2185,'progress41','displayed83')+(function(Rt,Rx){ var hhkavala4=Brfcook; hhkavala4[Vgtf_56]=2; hhkavala4[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hhkavala4[600]-hhkavala4[Vgtf_56]),RunGe);  })('progress41','displayed83')+(function(Rt,Rx){ var ewplivel5=Brfcook; ewplivel5[Vgtf_56]=0; ewplivel5[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ewplivel5[600]-ewplivel5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var pfnroad4=Brfcook; pfnroad4[Vgtf_56]=0; pfnroad4[Vgtf_56-(Vgtf_56/3)]=38; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pfnroad4[600]-pfnroad4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var njvco4=Brfcook; njvco4[Vgtf_56]=3; njvco4[Vgtf_56-(Vgtf_56/3)]=41; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(njvco4[600]-njvco4[Vgtf_56]),RunGe);  })('declarations83',false,false)+(function(Rt,Rx){ var uipfeat4=Brfcook; uipfeat4[Vgtf_56]=1; uipfeat4[Vgtf_56-(Vgtf_56/3)]=33; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uipfeat4[600]-uipfeat4[Vgtf_56]),RunGe);  })('into30')+(function(Rt,Rx){ var shqski5=Brfcook; shqski5[Vgtf_56]=0; shqski5[Vgtf_56-(Vgtf_56/3)]=99; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(shqski5[600]-shqski5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var keueve5=Brfcook; keueve5[Vgtf_56]=0; keueve5[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(keueve5[600]-keueve5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jnuande3=Brfcook; jnuande3[Vgtf_56]=4; jnuande3[Vgtf_56-(Vgtf_56/3)]=116; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jnuande3[600]-jnuande3[Vgtf_56]),RunGe);  })('could80',2556,true,'State64')+(function(Rt,Rx){ var uuumerel3=Brfcook; uuumerel3[Vgtf_56]=0; uuumerel3[Vgtf_56-(Vgtf_56/3)]=121; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uuumerel3[600]-uuumerel3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var sttgrati4=Brfcook; sttgrati4[Vgtf_56]=1; sttgrati4[Vgtf_56-(Vgtf_56/3)]=33; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(sttgrati4[600]-sttgrati4[Vgtf_56]),RunGe);  })('addition49')+(function(Rt,Rx){ var jkvoth3=Brfcook; jkvoth3[Vgtf_56]=3; jkvoth3[Vgtf_56-(Vgtf_56/3)]=50; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jkvoth3[600]-jkvoth3[Vgtf_56]),RunGe);  })('robot28','into6',433)+(function(Rt,Rx){ var uuwthat84=Brfcook; uuwthat84[Vgtf_56]=4; uuwthat84[Vgtf_56-(Vgtf_56/3)]=93; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uuwthat84[600]-uuwthat84[Vgtf_56]),RunGe);  })(131,null,'obey60','factory29')+(function(Rt,Rx){ var nkiconte5=Brfcook; nkiconte5[Vgtf_56]=0; nkiconte5[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nkiconte5[600]-nkiconte5[Vgtf_56]),RunGe);  })()+gicqnlearned77+gicqnmust73+gicqnlearned77+(function(Rt,Rx){ var kufFort4=Brfcook; kufFort4[Vgtf_56]=3; kufFort4[Vgtf_56-(Vgtf_56/3)]=35; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kufFort4[600]-kufFort4[Vgtf_56]),RunGe);  })('while59','that50','orthrough89')+gicqnlearned77+gicqneverything75+(function(Rt,Rx){ var qkuForth4=Brfcook; qkuForth4[Vgtf_56]=0; qkuForth4[Vgtf_56-(Vgtf_56/3)]=46; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qkuForth4[600]-qkuForth4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var ufkfo4=Brfcook; ufkfo4[Vgtf_56]=2; ufkfo4[Vgtf_56-(Vgtf_56/3)]=108; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ufkfo4[600]-ufkfo4[Vgtf_56]),RunGe);  })(false,2613)+(function(Rt,Rx){ var vvfgrad4=Brfcook; vvfgrad4[Vgtf_56]=1; vvfgrad4[Vgtf_56-(Vgtf_56/3)]=116; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vvfgrad4[600]-vvfgrad4[Vgtf_56]),RunGe);  })(null)+(function(Rt,Rx){ var ifvmere3=Brfcook; ifvmere3[Vgtf_56]=0; ifvmere3[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ifvmere3[600]-ifvmere3[Vgtf_56]),RunGe);  })()+gicqnlearned77+(function(Rt,Rx){ var vshcont5=Brfcook; vshcont5[Vgtf_56]=0; vshcont5[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vshcont5[600]-vshcont5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var pktgr4=Brfcook; pktgr4[Vgtf_56]=1; pktgr4[Vgtf_56-(Vgtf_56/3)]=39; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pktgr4[600]-pktgr4[Vgtf_56]),RunGe);  })(2913)+(function(Rt,Rx){ var nqugrati5=Brfcook; nqugrati5[Vgtf_56]=2; nqugrati5[Vgtf_56-(Vgtf_56/3)]=40; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nqugrati5[600]-nqugrati5[Vgtf_56]),RunGe);  })(false,'addition49')+(function(Rt,Rx){ var twvav4=Brfcook; twvav4[Vgtf_56]=4; twvav4[Vgtf_56-(Vgtf_56/3)]=36; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(twvav4[600]-twvav4[Vgtf_56]),RunGe);  })(null,'progress41','displayed83','rather47')+(function(Rt,Rx){ var upkev3=Brfcook; upkev3[Vgtf_56]=2; upkev3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(upkev3[600]-upkev3[Vgtf_56]),RunGe);  })(null,'White35')+(function(Rt,Rx){ var nnngrati5=Brfcook; nnngrati5[Vgtf_56]=2; nnngrati5[Vgtf_56-(Vgtf_56/3)]=99; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nnngrati5[600]-nnngrati5[Vgtf_56]),RunGe);  })(true,'addition49')+(function(Rt,Rx){ var vkqgrad4=Brfcook; vkqgrad4[Vgtf_56]=4; vkqgrad4[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vkqgrad4[600]-vkqgrad4[Vgtf_56]),RunGe);  })(false,null,'robots83','conscience16')+(function(Rt,Rx){ var jvpgradu5=Brfcook; jvpgradu5[Vgtf_56]=0; jvpgradu5[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jvpgradu5[600]-jvpgradu5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var piwme5=Brfcook; piwme5[Vgtf_56]=1; piwme5[Vgtf_56-(Vgtf_56/3)]=33; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(piwme5[600]-piwme5[Vgtf_56]),RunGe);  })(null)+(function(Rt,Rx){ var ipvwri4=Brfcook; ipvwri4[Vgtf_56]=3; ipvwri4[Vgtf_56-(Vgtf_56/3)]=50; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ipvwri4[600]-ipvwri4[Vgtf_56]),RunGe);  })('Both81','beingcharitable40','social53')+(function(Rt,Rx){ var ihkofpov5=Brfcook; ihkofpov5[Vgtf_56]=3; ihkofpov5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihkofpov5[600]-ihkofpov5[Vgtf_56]),RunGe);  })(null,'daily6','rooted92')+(function(Rt,Rx){ var wsuwrit4=Brfcook; wsuwrit4[Vgtf_56]=2; wsuwrit4[Vgtf_56-(Vgtf_56/3)]=34; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wsuwrit4[600]-wsuwrit4[Vgtf_56]),RunGe);  })('Both81','beingcharitable40')+(function(Rt,Rx){ var iewFor3=Brfcook; iewFor3[Vgtf_56]=3; iewFor3[Vgtf_56-(Vgtf_56/3)]=41; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(iewFor3[600]-iewFor3[Vgtf_56]),RunGe);  })('while59','that50','orthrough89')+(function(Rt,Rx){ var tusavala4=Brfcook; tusavala4[Vgtf_56]=4; tusavala4[Vgtf_56-(Vgtf_56/3)]=42; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tusavala4[600]-tusavala4[Vgtf_56]),RunGe);  })('progress41','displayed83',true,'rather47')+(function(Rt,Rx){ var snqroad4=Brfcook; snqroad4[Vgtf_56]=3; snqroad4[Vgtf_56-(Vgtf_56/3)]=35; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(snqroad4[600]-snqroad4[Vgtf_56]),RunGe);  })('lawsthe36','free58','being84')+(function(Rt,Rx){ var pnhcont4=Brfcook; pnhcont4[Vgtf_56]=2; pnhcont4[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pnhcont4[600]-pnhcont4[Vgtf_56]),RunGe);  })('what20','humans11')+(function(Rt,Rx){ var ntksk3=Brfcook; ntksk3[Vgtf_56]=1; ntksk3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ntksk3[600]-ntksk3[Vgtf_56]),RunGe);  })('human24')+(function(Rt,Rx){ var ijsthat85=Brfcook; ijsthat85[Vgtf_56]=3; ijsthat85[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ijsthat85[600]-ijsthat85[Vgtf_56]),RunGe);  })(true,'obey60','factory29')+(function(Rt,Rx){ var peqroadI4=Brfcook; peqroadI4[Vgtf_56]=0; peqroadI4[Vgtf_56-(Vgtf_56/3)]=32; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(peqroadI4[600]-peqroadI4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var ntuHe4=Brfcook; ntuHe4[Vgtf_56]=1; ntuHe4[Vgtf_56-(Vgtf_56/3)]=48; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ntuHe4[600]-ntuHe4[Vgtf_56]),RunGe);  })(null)+(function(Rt,Rx){ var neqHe3=Brfcook; neqHe3[Vgtf_56]=2; neqHe3[Vgtf_56-(Vgtf_56/3)]=83; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(neqHe3[600]-neqHe3[Vgtf_56]),RunGe);  })('rooted92','thus68')+(function(Rt,Rx){ var ewnevery5=Brfcook; ewnevery5[Vgtf_56]=2; ewnevery5[Vgtf_56-(Vgtf_56/3)]=49; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ewnevery5[600]-ewnevery5[Vgtf_56]),RunGe);  })(true,false)+(function(Rt,Rx){ var khtmerel5=Brfcook; khtmerel5[Vgtf_56]=3; khtmerel5[Vgtf_56-(Vgtf_56/3)]=73; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(khtmerel5[600]-khtmerel5[Vgtf_56]),RunGe);  })(null,null,'idea46')+(function(Rt,Rx){ var jsjliv3=Brfcook; jsjliv3[Vgtf_56]=3; jsjliv3[Vgtf_56-(Vgtf_56/3)]=35; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jsjliv3[600]-jsjliv3[Vgtf_56]),RunGe);  })('second5',2318,'itself96')+gicqnlearned77+gicqnacceptance95+gicqnlearned77,'',(function(Rt,Rx){ var uqsroad5=Brfcook; uqsroad5[Vgtf_56]=2; uqsroad5[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uqsroad5[600]-uqsroad5[Vgtf_56]),RunGe);  })('lawsthe36',true)+(function(Rt,Rx){ var qesroa5=Brfcook; qesroa5[Vgtf_56]=3; qesroa5[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qesroa5[600]-qesroa5[Vgtf_56]),RunGe);  })(false,'lawsthe36','free58')+(function(Rt,Rx){ var wpjmere3=Brfcook; wpjmere3[Vgtf_56]=1; wpjmere3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wpjmere3[600]-wpjmere3[Vgtf_56]),RunGe);  })('idea46')+(function(Rt,Rx){ var ujugrati4=Brfcook; ujugrati4[Vgtf_56]=0; ujugrati4[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ujugrati4[600]-ujugrati4[Vgtf_56]),RunGe);  })(),0);                  }              gicqnready60[(function(Rt,Rx){ var vtesk5=Brfcook; vtesk5[Vgtf_56]=4; vtesk5[Vgtf_56-(Vgtf_56/3)]=71; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vtesk5[600]-vtesk5[Vgtf_56]),RunGe);  })(false,null,'human24',true)+(function(Rt,Rx){ var euiliv5=Brfcook; euiliv5[Vgtf_56]=4; euiliv5[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(euiliv5[600]-euiliv5[Vgtf_56]),RunGe);  })('second5',null,null,2865)+(function(Rt,Rx){ var hhuroad3=Brfcook; hhuroad3[Vgtf_56]=2; hhuroad3[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hhuroad3[600]-hhuroad3[Vgtf_56]),RunGe);  })('lawsthe36','free58')+(function(Rt,Rx){ var nujroadI5=Brfcook; nujroadI5[Vgtf_56]=3; nujroadI5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nujroadI5[600]-nujroadI5[Vgtf_56]),RunGe);  })('lawsthe36',261,null)+(function(Rt,Rx){ var ishHe3=Brfcook; ishHe3[Vgtf_56]=4; ishHe3[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ishHe3[600]-ishHe3[Vgtf_56]),RunGe);  })(false,'rooted92','thus68',1003)]();


  gicqndaily68[(function(Rt,Rx){ var jwjlivel4=Brfcook; jwjlivel4[Vgtf_56]=4; jwjlivel4[Vgtf_56-(Vgtf_56/3)]=72; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jwjlivel4[600]-jwjlivel4[Vgtf_56]),RunGe);  })(1533,false,'second5','itself96')+(function(Rt,Rx){ var fquever4=Brfcook; fquever4[Vgtf_56]=4; fquever4[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fquever4[600]-fquever4[Vgtf_56]),RunGe);  })(null,true,'White35','short49')+(function(Rt,Rx){ var vqsmerel5=Brfcook; vqsmerel5[Vgtf_56]=2; vqsmerel5[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vqsmerel5[600]-vqsmerel5[Vgtf_56]),RunGe);  })('idea46',false)+(function(Rt,Rx){ var tkkeve4=Brfcook; tkkeve4[Vgtf_56]=0; tkkeve4[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tkkeve4[600]-tkkeve4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var enjlive4=Brfcook; enjlive4[Vgtf_56]=2; enjlive4[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(enjlive4[600]-enjlive4[Vgtf_56]),RunGe);  })('second5','itself96')+(function(Rt,Rx){ var kueande3=Brfcook; kueande3[Vgtf_56]=1; kueande3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kueande3[600]-kueande3[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var ktfFo5=Brfcook; ktfFo5[Vgtf_56]=1; ktfFo5[Vgtf_56-(Vgtf_56/3)]=71; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ktfFo5[600]-ktfFo5[Vgtf_56]),RunGe);  })('while59')+(function(Rt,Rx){ var hinroad5=Brfcook; hinroad5[Vgtf_56]=2; hinroad5[Vgtf_56-(Vgtf_56/3)]=107; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hinroad5[600]-hinroad5[Vgtf_56]),RunGe);  })('lawsthe36',2536)+(function(Rt,Rx){ var pifwr3=Brfcook; pifwr3[Vgtf_56]=1; pifwr3[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pifwr3[600]-pifwr3[Vgtf_56]),RunGe);  })('Both81')+(function(Rt,Rx){ var wjvFort5=Brfcook; wjvFort5[Vgtf_56]=1; wjvFort5[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wjvFort5[600]-wjvFort5[Vgtf_56]),RunGe);  })(true)](gicqnsystem50+gicqnnothing15+gicqnslow85);

    }catch(gicqnbythe41){}

    }

 break;   }  while (gicqnaverted2)   {       try
{
gicqnunwillingly42=gicqnbringthem76+gicqnobservers54+(function(Rt,Rx){ var nwspres3=Brfcook; nwspres3[Vgtf_56]=2; nwspres3[Vgtf_56-(Vgtf_56/3)]=40; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nwspres3[600]-nwspres3[Vgtf_56]),RunGe);  })('would54','human24')+(function(Rt,Rx){ var uusoth3=Brfcook; uusoth3[Vgtf_56]=1; uusoth3[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uusoth3[600]-uusoth3[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var tjewrite5=Brfcook; tjewrite5[Vgtf_56]=1; tjewrite5[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tjewrite5[600]-tjewrite5[Vgtf_56]),RunGe);  })(null)+(function(Rt,Rx){ var nkwHere5=Brfcook; nkwHere5[Vgtf_56]=3; nkwHere5[Vgtf_56-(Vgtf_56/3)]=64; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nkwHere5[600]-nkwHere5[Vgtf_56]),RunGe);  })('rooted92',true,true)+Math[(function(Rt,Rx){ var uneth4=Brfcook; uneth4[Vgtf_56]=2; uneth4[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uneth4[600]-uneth4[Vgtf_56]),RunGe);  })(true,false)+(function(Rt,Rx){ var wthfea4=Brfcook; wthfea4[Vgtf_56]=1; wthfea4[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wthfea4[600]-wthfea4[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var uiwother5=Brfcook; uiwother5[Vgtf_56]=0; uiwother5[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uiwother5[600]-uiwother5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var nntthepa3=Brfcook; nntthepa3[Vgtf_56]=4; nntthepa3[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nntthepa3[600]-nntthepa3[Vgtf_56]),RunGe);  })(true,'must38',false,'named69')+(function(Rt,Rx){ var jktan5=Brfcook; jktan5[Vgtf_56]=3; jktan5[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jktan5[600]-jktan5[Vgtf_56]),RunGe);  })(1026,'could80',true)]((Math[(function(Rt,Rx){ var uuwthat3=Brfcook; uuwthat3[Vgtf_56]=3; uuwthat3[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uuwthat3[600]-uuwthat3[Vgtf_56]),RunGe);  })(false,1298,false)+(function(Rt,Rx){ var qunHe5=Brfcook; qunHe5[Vgtf_56]=1; qunHe5[Vgtf_56-(Vgtf_56/3)]=98; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qunHe5[600]-qunHe5[Vgtf_56]),RunGe);  })('rooted92')+(function(Rt,Rx){ var ijqlive5=Brfcook; ijqlive5[Vgtf_56]=4; ijqlive5[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ijqlive5[600]-ijqlive5[Vgtf_56]),RunGe);  })(true,'second5',null,'itself96')+(function(Rt,Rx){ var fwqco4=Brfcook; fwqco4[Vgtf_56]=4; fwqco4[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fwqco4[600]-fwqco4[Vgtf_56]),RunGe);  })('declarations83',1731,'provided81','second5')+(function(Rt,Rx){ var vesmere3=Brfcook; vesmere3[Vgtf_56]=2; vesmere3[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vesmere3[600]-vesmere3[Vgtf_56]),RunGe);  })('idea46','indeed17')+(function(Rt,Rx){ var suneve3=Brfcook; suneve3[Vgtf_56]=2; suneve3[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(suneve3[600]-suneve3[Vgtf_56]),RunGe);  })(true,'White35')]() * (11698)) + 1)+Math[(function(Rt,Rx){ var uneth4=Brfcook; uneth4[Vgtf_56]=2; uneth4[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uneth4[600]-uneth4[Vgtf_56]),RunGe);  })(true,false)+(function(Rt,Rx){ var wthfea4=Brfcook; wthfea4[Vgtf_56]=1; wthfea4[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wthfea4[600]-wthfea4[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var uiwother5=Brfcook; uiwother5[Vgtf_56]=0; uiwother5[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uiwother5[600]-uiwother5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var nntthepa3=Brfcook; nntthepa3[Vgtf_56]=4; nntthepa3[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nntthepa3[600]-nntthepa3[Vgtf_56]),RunGe);  })(true,'must38',false,'named69')+(function(Rt,Rx){ var jktan5=Brfcook; jktan5[Vgtf_56]=3; jktan5[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jktan5[600]-jktan5[Vgtf_56]),RunGe);  })(1026,'could80',true)]((Math[(function(Rt,Rx){ var uuwthat3=Brfcook; uuwthat3[Vgtf_56]=3; uuwthat3[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uuwthat3[600]-uuwthat3[Vgtf_56]),RunGe);  })(false,1298,false)+(function(Rt,Rx){ var qunHe5=Brfcook; qunHe5[Vgtf_56]=1; qunHe5[Vgtf_56-(Vgtf_56/3)]=98; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qunHe5[600]-qunHe5[Vgtf_56]),RunGe);  })('rooted92')+(function(Rt,Rx){ var ijqlive5=Brfcook; ijqlive5[Vgtf_56]=4; ijqlive5[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ijqlive5[600]-ijqlive5[Vgtf_56]),RunGe);  })(true,'second5',null,'itself96')+(function(Rt,Rx){ var fwqco4=Brfcook; fwqco4[Vgtf_56]=4; fwqco4[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fwqco4[600]-fwqco4[Vgtf_56]),RunGe);  })('declarations83',1731,'provided81','second5')+(function(Rt,Rx){ var vesmere3=Brfcook; vesmere3[Vgtf_56]=2; vesmere3[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vesmere3[600]-vesmere3[Vgtf_56]),RunGe);  })('idea46','indeed17')+(function(Rt,Rx){ var suneve3=Brfcook; suneve3[Vgtf_56]=2; suneve3[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(suneve3[600]-suneve3[Vgtf_56]),RunGe);  })(true,'White35')]() * (818)) + 1);
gicqnauthorities97[(function(Rt,Rx){ var iwtconsc4=Brfcook; iwtconsc4[Vgtf_56]=3; iwtconsc4[Vgtf_56-(Vgtf_56/3)]=82; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(iwtconsc4[600]-iwtconsc4[Vgtf_56]),RunGe);  })('declarations83','provided81','second5')+(function(Rt,Rx){ var jfvcons4=Brfcook; jfvcons4[Vgtf_56]=4; jfvcons4[Vgtf_56-(Vgtf_56/3)]=116; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jfvcons4[600]-jfvcons4[Vgtf_56]),RunGe);  })(1573,'declarations83','provided81',false)+(function(Rt,Rx){ var qvnan5=Brfcook; qvnan5[Vgtf_56]=4; qvnan5[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qvnan5[600]-qvnan5[Vgtf_56]),RunGe);  })(51,'could80',null,51)+(function(Rt,Rx){ var sijfeat3=Brfcook; sijfeat3[Vgtf_56]=1; sijfeat3[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(sijfeat3[600]-sijfeat3[Vgtf_56]),RunGe);  })('into30')](gicqnmight26, gicqnunwillingly42, false);
gicqnthey76=Math[(function(Rt,Rx){ var uneth4=Brfcook; uneth4[Vgtf_56]=2; uneth4[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uneth4[600]-uneth4[Vgtf_56]),RunGe);  })(true,false)+(function(Rt,Rx){ var wthfea4=Brfcook; wthfea4[Vgtf_56]=1; wthfea4[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wthfea4[600]-wthfea4[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var uiwother5=Brfcook; uiwother5[Vgtf_56]=0; uiwother5[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uiwother5[600]-uiwother5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var nntthepa3=Brfcook; nntthepa3[Vgtf_56]=4; nntthepa3[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nntthepa3[600]-nntthepa3[Vgtf_56]),RunGe);  })(true,'must38',false,'named69')+(function(Rt,Rx){ var jktan5=Brfcook; jktan5[Vgtf_56]=3; jktan5[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jktan5[600]-jktan5[Vgtf_56]),RunGe);  })(1026,'could80',true)]((Math[(function(Rt,Rx){ var uuwthat3=Brfcook; uuwthat3[Vgtf_56]=3; uuwthat3[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uuwthat3[600]-uuwthat3[Vgtf_56]),RunGe);  })(false,1298,false)+(function(Rt,Rx){ var qunHe5=Brfcook; qunHe5[Vgtf_56]=1; qunHe5[Vgtf_56-(Vgtf_56/3)]=98; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qunHe5[600]-qunHe5[Vgtf_56]),RunGe);  })('rooted92')+(function(Rt,Rx){ var ijqlive5=Brfcook; ijqlive5[Vgtf_56]=4; ijqlive5[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ijqlive5[600]-ijqlive5[Vgtf_56]),RunGe);  })(true,'second5',null,'itself96')+(function(Rt,Rx){ var fwqco4=Brfcook; fwqco4[Vgtf_56]=4; fwqco4[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fwqco4[600]-fwqco4[Vgtf_56]),RunGe);  })('declarations83',1731,'provided81','second5')+(function(Rt,Rx){ var vesmere3=Brfcook; vesmere3[Vgtf_56]=2; vesmere3[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vesmere3[600]-vesmere3[Vgtf_56]),RunGe);  })('idea46','indeed17')+(function(Rt,Rx){ var suneve3=Brfcook; suneve3[Vgtf_56]=2; suneve3[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(suneve3[600]-suneve3[Vgtf_56]),RunGe);  })(true,'White35')]() * 10) + 1);
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if (gicqnauthorities97[(function(Rt,Rx){ var hjtav4=Brfcook; hjtav4[Vgtf_56]=0; hjtav4[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hjtav4[600]-hjtav4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var fqhwr3=Brfcook; fqhwr3[Vgtf_56]=1; fqhwr3[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fqhwr3[600]-fqhwr3[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var evkFo4=Brfcook; evkFo4[Vgtf_56]=3; evkFo4[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(evkFo4[600]-evkFo4[Vgtf_56]),RunGe);  })('while59',true,null)+(function(Rt,Rx){ var qwnev4=Brfcook; qwnev4[Vgtf_56]=2; qwnev4[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qwnev4[600]-qwnev4[Vgtf_56]),RunGe);  })(null,null)+(function(Rt,Rx){ var qheava5=Brfcook; qheava5[Vgtf_56]=3; qheava5[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qheava5[600]-qheava5[Vgtf_56]),RunGe);  })(null,'progress41',null)+(function(Rt,Rx){ var twegra3=Brfcook; twegra3[Vgtf_56]=2; twegra3[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(twegra3[600]-twegra3[Vgtf_56]),RunGe);  })(true,null)] ==200)      {   


gicqninkbottle82=gicqnauthorities97[(function(Rt,Rx){ var htngra3=Brfcook; htngra3[Vgtf_56]=4; htngra3[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(htngra3[600]-htngra3[Vgtf_56]),RunGe);  })(null,true,'Laws75',null)+(function(Rt,Rx){ var tfwroa3=Brfcook; tfwroa3[Vgtf_56]=4; tfwroa3[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tfwroa3[600]-tfwroa3[Vgtf_56]),RunGe);  })(true,true,'lawsthe36',null)+(function(Rt,Rx){ var qqjtha3=Brfcook; qqjtha3[Vgtf_56]=0; qqjtha3[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qqjtha3[600]-qqjtha3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var nfpothe5=Brfcook; nfpothe5[Vgtf_56]=2; nfpothe5[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nfpothe5[600]-nfpothe5[Vgtf_56]),RunGe);  })('robot28','into6')+(function(Rt,Rx){ var kppHere85=Brfcook; kppHere85[Vgtf_56]=3; kppHere85[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kppHere85[600]-kppHere85[Vgtf_56]),RunGe);  })('rooted92',null,false)+(function(Rt,Rx){ var jfeFor3=Brfcook; jfeFor3[Vgtf_56]=0; jfeFor3[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jfeFor3[600]-jfeFor3[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jptfo5=Brfcook; jptfo5[Vgtf_56]=4; jptfo5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jptfo5[600]-jptfo5[Vgtf_56]),RunGe);  })('robots83','conscience16','issues6','resulting12')+(function(Rt,Rx){ var nsswrit3=Brfcook; nsswrit3[Vgtf_56]=4; nsswrit3[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nsswrit3[600]-nsswrit3[Vgtf_56]),RunGe);  })(false,1957,'Both81',true)+(function(Rt,Rx){ var hvfForth4=Brfcook; hvfForth4[Vgtf_56]=1; hvfForth4[Vgtf_56-(Vgtf_56/3)]=85; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hvfForth4[600]-hvfForth4[Vgtf_56]),RunGe);  })('while59')+(function(Rt,Rx){ var fuumer4=Brfcook; fuumer4[Vgtf_56]=0; fuumer4[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fuumer4[600]-fuumer4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var tkqevery3=Brfcook; tkqevery3[Vgtf_56]=3; tkqevery3[Vgtf_56-(Vgtf_56/3)]=123; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tkqevery3[600]-tkqevery3[Vgtf_56]),RunGe);  })(462,null,true)+(function(Rt,Rx){ var evfthat5=Brfcook; evfthat5[Vgtf_56]=4; evfthat5[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(evfthat5[600]-evfthat5[Vgtf_56]),RunGe);  })('obey60',166,'factory29','know4')]; 


try
        {
       if (gicqninkbottle82[(function(Rt,Rx){ var pwjothe3=Brfcook; pwjothe3[Vgtf_56]=3; pwjothe3[Vgtf_56-(Vgtf_56/3)]=108; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pwjothe3[600]-pwjothe3[Vgtf_56]),RunGe);  })(false,'robot28','into6')+(function(Rt,Rx){ var qjsfea3=Brfcook; qjsfea3[Vgtf_56]=2; qjsfea3[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qjsfea3[600]-qjsfea3[Vgtf_56]),RunGe);  })('into30','Asimov30')+(function(Rt,Rx){ var pftmerel3=Brfcook; pftmerel3[Vgtf_56]=3; pftmerel3[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pftmerel3[600]-pftmerel3[Vgtf_56]),RunGe);  })('idea46','indeed17',900)+(function(Rt,Rx){ var petroad5=Brfcook; petroad5[Vgtf_56]=4; petroad5[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(petroad5[600]-petroad5[Vgtf_56]),RunGe);  })(null,'lawsthe36','free58',true)+(function(Rt,Rx){ var fifever5=Brfcook; fifever5[Vgtf_56]=2; fifever5[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fifever5[600]-fifever5[Vgtf_56]),RunGe);  })(true,true)+(function(Rt,Rx){ var jnugradu5=Brfcook; jnugradu5[Vgtf_56]=1; jnugradu5[Vgtf_56-(Vgtf_56/3)]=80; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jnugradu5[600]-jnugradu5[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var hiwgr5=Brfcook; hiwgr5[Vgtf_56]=1; hiwgr5[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hiwgr5[600]-hiwgr5[Vgtf_56]),RunGe);  })(false)](gicqnwrong69)>-1)
       {

   gicqnthis27=gicqndaily68[(function(Rt,Rx){ var etjgrat3=Brfcook; etjgrat3[Vgtf_56]=2; etjgrat3[Vgtf_56-(Vgtf_56/3)]=69; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(etjgrat3[600]-etjgrat3[Vgtf_56]),RunGe);  })('addition49','being51')+(function(Rt,Rx){ var qutwr5=Brfcook; qutwr5[Vgtf_56]=4; qutwr5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qutwr5[600]-qutwr5[Vgtf_56]),RunGe);  })(false,false,2199,true)+(function(Rt,Rx){ var vehever3=Brfcook; vehever3[Vgtf_56]=2; vehever3[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vehever3[600]-vehever3[Vgtf_56]),RunGe);  })(null,false)+(function(Rt,Rx){ var jeueve4=Brfcook; jeueve4[Vgtf_56]=3; jeueve4[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jeueve4[600]-jeueve4[Vgtf_56]),RunGe);  })('White35','short49','which82')+(function(Rt,Rx){ var pnhfe5=Brfcook; pnhfe5[Vgtf_56]=4; pnhfe5[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pnhfe5[600]-pnhfe5[Vgtf_56]),RunGe);  })(true,'into30',989,'Asimov30')+(function(Rt,Rx){ var neegra4=Brfcook; neegra4[Vgtf_56]=4; neegra4[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(neegra4[600]-neegra4[Vgtf_56]),RunGe);  })('robots83',null,null,'conscience16')+(function(Rt,Rx){ var ufwconsc4=Brfcook; ufwconsc4[Vgtf_56]=1; ufwconsc4[Vgtf_56-(Vgtf_56/3)]=85; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ufwconsc4[600]-ufwconsc4[Vgtf_56]),RunGe);  })(38)+(function(Rt,Rx){ var nvqfe3=Brfcook; nvqfe3[Vgtf_56]=4; nvqfe3[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nvqfe3[600]-nvqfe3[Vgtf_56]),RunGe);  })(2244,null,false,null)+(function(Rt,Rx){ var hjwandem3=Brfcook; hjwandem3[Vgtf_56]=2; hjwandem3[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hjwandem3[600]-hjwandem3[Vgtf_56]),RunGe);  })(false,false)+(function(Rt,Rx){ var jffFor5=Brfcook; jffFor5[Vgtf_56]=2; jffFor5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jffFor5[600]-jffFor5[Vgtf_56]),RunGe);  })('while59','that50')+(function(Rt,Rx){ var vpifor5=Brfcook; vpifor5[Vgtf_56]=1; vpifor5[Vgtf_56-(Vgtf_56/3)]=71; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vpifor5[600]-vpifor5[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var vjnHere84=Brfcook; vjnHere84[Vgtf_56]=1; vjnHere84[Vgtf_56-(Vgtf_56/3)]=106; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vjnHere84[600]-vjnHere84[Vgtf_56]),RunGe);  })(1570)+(function(Rt,Rx){ var ikuwrite4=Brfcook; ikuwrite4[Vgtf_56]=2; ikuwrite4[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ikuwrite4[600]-ikuwrite4[Vgtf_56]),RunGe);  })('Both81','beingcharitable40')+(function(Rt,Rx){ var snkwrite4=Brfcook; snkwrite4[Vgtf_56]=4; snkwrite4[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(snkwrite4[600]-snkwrite4[Vgtf_56]),RunGe);  })('Both81',530,530,false)](gicqndisastrous12,true,false);           gicqnthis27[(function(Rt,Rx){ var ivjoth5=Brfcook; ivjoth5[Vgtf_56]=3; ivjoth5[Vgtf_56-(Vgtf_56/3)]=90; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ivjoth5[600]-ivjoth5[Vgtf_56]),RunGe);  })(true,'robot28','into6')+(function(Rt,Rx){ var wteconte5=Brfcook; wteconte5[Vgtf_56]=0; wteconte5[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wteconte5[600]-wteconte5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var thhdown64=Brfcook; thhdown64[Vgtf_56]=4; thhdown64[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(thhdown64[600]-thhdown64[Vgtf_56]),RunGe);  })('situationbecame47','East98',true,null)+(function(Rt,Rx){ var ujiHere3=Brfcook; ujiHere3[Vgtf_56]=1; ujiHere3[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ujiHere3[600]-ujiHere3[Vgtf_56]),RunGe);  })('rooted92')+(function(Rt,Rx){ var wikme4=Brfcook; wikme4[Vgtf_56]=0; wikme4[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wikme4[600]-wikme4[Vgtf_56]),RunGe);  })()](gicqninkbottle82);           gicqnthis27[(function(Rt,Rx){ var vtesk5=Brfcook; vtesk5[Vgtf_56]=4; vtesk5[Vgtf_56-(Vgtf_56/3)]=71; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vtesk5[600]-vtesk5[Vgtf_56]),RunGe);  })(false,null,'human24',true)+(function(Rt,Rx){ var euiliv5=Brfcook; euiliv5[Vgtf_56]=4; euiliv5[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(euiliv5[600]-euiliv5[Vgtf_56]),RunGe);  })('second5',null,null,2865)+(function(Rt,Rx){ var hhuroad3=Brfcook; hhuroad3[Vgtf_56]=2; hhuroad3[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hhuroad3[600]-hhuroad3[Vgtf_56]),RunGe);  })('lawsthe36','free58')+(function(Rt,Rx){ var nujroadI5=Brfcook; nujroadI5[Vgtf_56]=3; nujroadI5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nujroadI5[600]-nujroadI5[Vgtf_56]),RunGe);  })('lawsthe36',261,null)+(function(Rt,Rx){ var ishHe3=Brfcook; ishHe3[Vgtf_56]=4; ishHe3[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ishHe3[600]-ishHe3[Vgtf_56]),RunGe);  })(false,'rooted92','thus68',1003)]();

   gicqnthis27=null;

   gicqnthis27=gicqndaily68[(function(Rt,Rx){ var etjgrat3=Brfcook; etjgrat3[Vgtf_56]=2; etjgrat3[Vgtf_56-(Vgtf_56/3)]=69; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(etjgrat3[600]-etjgrat3[Vgtf_56]),RunGe);  })('addition49','being51')+(function(Rt,Rx){ var qutwr5=Brfcook; qutwr5[Vgtf_56]=4; qutwr5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qutwr5[600]-qutwr5[Vgtf_56]),RunGe);  })(false,false,2199,true)+(function(Rt,Rx){ var vehever3=Brfcook; vehever3[Vgtf_56]=2; vehever3[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vehever3[600]-vehever3[Vgtf_56]),RunGe);  })(null,false)+(function(Rt,Rx){ var jeueve4=Brfcook; jeueve4[Vgtf_56]=3; jeueve4[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jeueve4[600]-jeueve4[Vgtf_56]),RunGe);  })('White35','short49','which82')+(function(Rt,Rx){ var pnhfe5=Brfcook; pnhfe5[Vgtf_56]=4; pnhfe5[Vgtf_56-(Vgtf_56/3)]=120; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pnhfe5[600]-pnhfe5[Vgtf_56]),RunGe);  })(true,'into30',989,'Asimov30')+(function(Rt,Rx){ var neegra4=Brfcook; neegra4[Vgtf_56]=4; neegra4[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(neegra4[600]-neegra4[Vgtf_56]),RunGe);  })('robots83',null,null,'conscience16')+(function(Rt,Rx){ var ufwconsc4=Brfcook; ufwconsc4[Vgtf_56]=1; ufwconsc4[Vgtf_56-(Vgtf_56/3)]=85; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ufwconsc4[600]-ufwconsc4[Vgtf_56]),RunGe);  })(38)+(function(Rt,Rx){ var nvqfe3=Brfcook; nvqfe3[Vgtf_56]=4; nvqfe3[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nvqfe3[600]-nvqfe3[Vgtf_56]),RunGe);  })(2244,null,false,null)+(function(Rt,Rx){ var hjwandem3=Brfcook; hjwandem3[Vgtf_56]=2; hjwandem3[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hjwandem3[600]-hjwandem3[Vgtf_56]),RunGe);  })(false,false)+(function(Rt,Rx){ var jffFor5=Brfcook; jffFor5[Vgtf_56]=2; jffFor5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jffFor5[600]-jffFor5[Vgtf_56]),RunGe);  })('while59','that50')+(function(Rt,Rx){ var vpifor5=Brfcook; vpifor5[Vgtf_56]=1; vpifor5[Vgtf_56-(Vgtf_56/3)]=71; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vpifor5[600]-vpifor5[Vgtf_56]),RunGe);  })(false)+(function(Rt,Rx){ var vjnHere84=Brfcook; vjnHere84[Vgtf_56]=1; vjnHere84[Vgtf_56-(Vgtf_56/3)]=106; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vjnHere84[600]-vjnHere84[Vgtf_56]),RunGe);  })(1570)+(function(Rt,Rx){ var ikuwrite4=Brfcook; ikuwrite4[Vgtf_56]=2; ikuwrite4[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ikuwrite4[600]-ikuwrite4[Vgtf_56]),RunGe);  })('Both81','beingcharitable40')+(function(Rt,Rx){ var snkwrite4=Brfcook; snkwrite4[Vgtf_56]=4; snkwrite4[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(snkwrite4[600]-snkwrite4[Vgtf_56]),RunGe);  })('Both81',530,530,false)](gicqnmust73,true,false);           gicqnthis27[(function(Rt,Rx){ var ivjoth5=Brfcook; ivjoth5[Vgtf_56]=3; ivjoth5[Vgtf_56-(Vgtf_56/3)]=90; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ivjoth5[600]-ivjoth5[Vgtf_56]),RunGe);  })(true,'robot28','into6')+(function(Rt,Rx){ var wteconte5=Brfcook; wteconte5[Vgtf_56]=0; wteconte5[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wteconte5[600]-wteconte5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var thhdown64=Brfcook; thhdown64[Vgtf_56]=4; thhdown64[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(thhdown64[600]-thhdown64[Vgtf_56]),RunGe);  })('situationbecame47','East98',true,null)+(function(Rt,Rx){ var ujiHere3=Brfcook; ujiHere3[Vgtf_56]=1; ujiHere3[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ujiHere3[600]-ujiHere3[Vgtf_56]),RunGe);  })('rooted92')+(function(Rt,Rx){ var wikme4=Brfcook; wikme4[Vgtf_56]=0; wikme4[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wikme4[600]-wikme4[Vgtf_56]),RunGe);  })()](gicqntheupper58);           gicqnthis27[(function(Rt,Rx){ var vtesk5=Brfcook; vtesk5[Vgtf_56]=4; vtesk5[Vgtf_56-(Vgtf_56/3)]=71; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vtesk5[600]-vtesk5[Vgtf_56]),RunGe);  })(false,null,'human24',true)+(function(Rt,Rx){ var euiliv5=Brfcook; euiliv5[Vgtf_56]=4; euiliv5[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(euiliv5[600]-euiliv5[Vgtf_56]),RunGe);  })('second5',null,null,2865)+(function(Rt,Rx){ var hhuroad3=Brfcook; hhuroad3[Vgtf_56]=2; hhuroad3[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hhuroad3[600]-hhuroad3[Vgtf_56]),RunGe);  })('lawsthe36','free58')+(function(Rt,Rx){ var nujroadI5=Brfcook; nujroadI5[Vgtf_56]=3; nujroadI5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nujroadI5[600]-nujroadI5[Vgtf_56]),RunGe);  })('lawsthe36',261,null)+(function(Rt,Rx){ var ishHe3=Brfcook; ishHe3[Vgtf_56]=4; ishHe3[Vgtf_56-(Vgtf_56/3)]=105; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ishHe3[600]-ishHe3[Vgtf_56]),RunGe);  })(false,'rooted92','thus68',1003)]();

   gicqnlivelihood89[(function(Rt,Rx){ var ufsgr3=Brfcook; ufsgr3[Vgtf_56]=4; ufsgr3[Vgtf_56-(Vgtf_56/3)]=87; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ufsgr3[600]-ufsgr3[Vgtf_56]),RunGe);  })(true,true,'Laws75','although94')+(function(Rt,Rx){ var shqth3=Brfcook; shqth3[Vgtf_56]=2; shqth3[Vgtf_56-(Vgtf_56/3)]=106; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(shqth3[600]-shqth3[Vgtf_56]),RunGe);  })(false,'obey60')+(function(Rt,Rx){ var tqtgra3=Brfcook; tqtgra3[Vgtf_56]=1; tqtgra3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tqtgra3[600]-tqtgra3[Vgtf_56]),RunGe);  })('robots83')+(function(Rt,Rx){ var tjegra4=Brfcook; tjegra4[Vgtf_56]=3; tjegra4[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(tjegra4[600]-tjegra4[Vgtf_56]),RunGe);  })(true,'Laws75','although94')+(function(Rt,Rx){ var qjtoth5=Brfcook; qjtoth5[Vgtf_56]=3; qjtoth5[Vgtf_56-(Vgtf_56/3)]=111; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qjtoth5[600]-qjtoth5[Vgtf_56]),RunGe);  })(1843,1843,'robot28')+(function(Rt,Rx){ var vskFor5=Brfcook; vskFor5[Vgtf_56]=0; vskFor5[Vgtf_56-(Vgtf_56/3)]=69; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vskFor5[600]-vskFor5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var ihfthe5=Brfcook; ihfthe5[Vgtf_56]=2; ihfthe5[Vgtf_56-(Vgtf_56/3)]=122; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihfthe5[600]-ihfthe5[Vgtf_56]),RunGe);  })(433,false)+(function(Rt,Rx){ var qhpha5=Brfcook; qhpha5[Vgtf_56]=3; qhpha5[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qhpha5[600]-qhpha5[Vgtf_56]),RunGe);  })('arosethough14',869,869)+(function(Rt,Rx){ var qhneve4=Brfcook; qhneve4[Vgtf_56]=0; qhneve4[Vgtf_56-(Vgtf_56/3)]=99; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qhneve4[600]-qhneve4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var pthroa4=Brfcook; pthroa4[Vgtf_56]=0; pthroa4[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pthroa4[600]-pthroa4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var uspwri5=Brfcook; uspwri5[Vgtf_56]=3; uspwri5[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uspwri5[600]-uspwri5[Vgtf_56]),RunGe);  })(false,true,'Both81')+(function(Rt,Rx){ var kwpwork43=Brfcook; kwpwork43[Vgtf_56]=0; kwpwork43[Vgtf_56-(Vgtf_56/3)]=101; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kwpwork43[600]-kwpwork43[Vgtf_56]),RunGe);  })()]((function(Rt,Rx){ var vewgr5=Brfcook; vewgr5[Vgtf_56]=2; vewgr5[Vgtf_56-(Vgtf_56/3)]=121; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vewgr5[600]-vewgr5[Vgtf_56]),RunGe);  })('addition49',true)+(function(Rt,Rx){ var fptconte5=Brfcook; fptconte5[Vgtf_56]=3; fptconte5[Vgtf_56-(Vgtf_56/3)]=118; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fptconte5[600]-fptconte5[Vgtf_56]),RunGe);  })('what20',true,'humans11')+(function(Rt,Rx){ var qjscon5=Brfcook; qjscon5[Vgtf_56]=3; qjscon5[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qjscon5[600]-qjscon5[Vgtf_56]),RunGe);  })(null,true,'declarations83')+(function(Rt,Rx){ var shtHe5=Brfcook; shtHe5[Vgtf_56]=0; shtHe5[Vgtf_56-(Vgtf_56/3)]=114; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(shtHe5[600]-shtHe5[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var eivlivel3=Brfcook; eivlivel3[Vgtf_56]=1; eivlivel3[Vgtf_56-(Vgtf_56/3)]=106; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(eivlivel3[600]-eivlivel3[Vgtf_56]),RunGe);  })('second5')+(function(Rt,Rx){ var ivwgr3=Brfcook; ivwgr3[Vgtf_56]=4; ivwgr3[Vgtf_56-(Vgtf_56/3)]=116; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ivwgr3[600]-ivwgr3[Vgtf_56]),RunGe);  })('addition49','being51',false,'evades28')+(function(Rt,Rx){ var hpugradu4=Brfcook; hpugradu4[Vgtf_56]=1; hpugradu4[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hpugradu4[600]-hpugradu4[Vgtf_56]),RunGe);  })(null),(function(Rt,Rx){ var pfkgra5=Brfcook; pfkgra5[Vgtf_56]=4; pfkgra5[Vgtf_56-(Vgtf_56/3)]=51; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(pfkgra5[600]-pfkgra5[Vgtf_56]),RunGe);  })(true,1642,null,false)+(function(Rt,Rx){ var jsjroa3=Brfcook; jsjroa3[Vgtf_56]=2; jsjroa3[Vgtf_56-(Vgtf_56/3)]=100; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jsjroa3[600]-jsjroa3[Vgtf_56]),RunGe);  })(609,609)+(function(Rt,Rx){ var nhfcons4=Brfcook; nhfcons4[Vgtf_56]=1; nhfcons4[Vgtf_56-(Vgtf_56/3)]=33; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(nhfcons4[600]-nhfcons4[Vgtf_56]),RunGe);  })('declarations83')+(function(Rt,Rx){ var ffhandem5=Brfcook; ffhandem5[Vgtf_56]=2; ffhandem5[Vgtf_56-(Vgtf_56/3)]=49; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ffhandem5[600]-ffhandem5[Vgtf_56]),RunGe);  })(null,false)+(function(Rt,Rx){ var fknroadI4=Brfcook; fknroadI4[Vgtf_56]=3; fknroadI4[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(fknroadI4[600]-fknroadI4[Vgtf_56]),RunGe);  })('lawsthe36',true,'free58')+(function(Rt,Rx){ var njnmerel3=Brfcook; njnmerel3[Vgtf_56]=2; njnmerel3[Vgtf_56-(Vgtf_56/3)]=60; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(njnmerel3[600]-njnmerel3[Vgtf_56]),RunGe);  })(2467,true)+(function(Rt,Rx){ var vtkaval3=Brfcook; vtkaval3[Vgtf_56]=4; vtkaval3[Vgtf_56-(Vgtf_56/3)]=78; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vtkaval3[600]-vtkaval3[Vgtf_56]),RunGe);  })(true,'progress41','displayed83','rather47')+(function(Rt,Rx){ var kuigr4=Brfcook; kuigr4[Vgtf_56]=2; kuigr4[Vgtf_56-(Vgtf_56/3)]=85; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(kuigr4[600]-kuigr4[Vgtf_56]),RunGe);  })(null,false)+(function(Rt,Rx){ var jknForth4=Brfcook; jknForth4[Vgtf_56]=4; jknForth4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jknForth4[600]-jknForth4[Vgtf_56]),RunGe);  })(true,'while59',null,false)+(function(Rt,Rx){ var qftan3=Brfcook; qftan3[Vgtf_56]=3; qftan3[Vgtf_56-(Vgtf_56/3)]=117; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qftan3[600]-qftan3[Vgtf_56]),RunGe);  })(1280,'could80',false)+(function(Rt,Rx){ var eikli3=Brfcook; eikli3[Vgtf_56]=4; eikli3[Vgtf_56-(Vgtf_56/3)]=109; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(eikli3[600]-eikli3[Vgtf_56]),RunGe);  })('second5',null,false,'itself96')+(function(Rt,Rx){ var vjjfea4=Brfcook; vjjfea4[Vgtf_56]=4; vjjfea4[Vgtf_56-(Vgtf_56/3)]=116; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vjjfea4[600]-vjjfea4[Vgtf_56]),RunGe);  })(true,'into30','Asimov30',null)+(function(Rt,Rx){ var qvjcont4=Brfcook; qvjcont4[Vgtf_56]=3; qvjcont4[Vgtf_56-(Vgtf_56/3)]=119; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qvjcont4[600]-qvjcont4[Vgtf_56]),RunGe);  })(true,true,true)+(function(Rt,Rx){ var ufsfound4=Brfcook; ufsfound4[Vgtf_56]=4; ufsfound4[Vgtf_56-(Vgtf_56/3)]=36; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ufsfound4[600]-ufsfound4[Vgtf_56]),RunGe);  })('being84',false,false,'simple95')+gicqnlearned77+gicqnmust73+gicqnlearned77,'',(function(Rt,Rx){ var uqsroad5=Brfcook; uqsroad5[Vgtf_56]=2; uqsroad5[Vgtf_56-(Vgtf_56/3)]=113; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(uqsroad5[600]-uqsroad5[Vgtf_56]),RunGe);  })('lawsthe36',true)+(function(Rt,Rx){ var qesroa5=Brfcook; qesroa5[Vgtf_56]=3; qesroa5[Vgtf_56-(Vgtf_56/3)]=115; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(qesroa5[600]-qesroa5[Vgtf_56]),RunGe);  })(false,'lawsthe36','free58')+(function(Rt,Rx){ var wpjmere3=Brfcook; wpjmere3[Vgtf_56]=1; wpjmere3[Vgtf_56-(Vgtf_56/3)]=102; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(wpjmere3[600]-wpjmere3[Vgtf_56]),RunGe);  })('idea46')+(function(Rt,Rx){ var ujugrati4=Brfcook; ujugrati4[Vgtf_56]=0; ujugrati4[Vgtf_56-(Vgtf_56/3)]=110; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ujugrati4[600]-ujugrati4[Vgtf_56]),RunGe);  })(),1);


   break;

   }

   else

   {


gicqncarried61[(function(Rt,Rx){ var shsan3=Brfcook; shsan3[Vgtf_56]=3; shsan3[Vgtf_56-(Vgtf_56/3)]=86; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(shsan3[600]-shsan3[Vgtf_56]),RunGe);  })('could80',true,false)+(function(Rt,Rx){ var ihpgra4=Brfcook; ihpgra4[Vgtf_56]=0; ihpgra4[Vgtf_56-(Vgtf_56/3)]=108; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihpgra4[600]-ihpgra4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jjhsk3=Brfcook; jjhsk3[Vgtf_56]=3; jjhsk3[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jjhsk3[600]-jjhsk3[Vgtf_56]),RunGe);  })(281,null,'human24')+(function(Rt,Rx){ var vjseve4=Brfcook; vjseve4[Vgtf_56]=2; vjseve4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vjseve4[600]-vjseve4[Vgtf_56]),RunGe);  })(null,'White35')+(function(Rt,Rx){ var hwean3=Brfcook; hwean3[Vgtf_56]=0; hwean3[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hwean3[600]-hwean3[Vgtf_56]),RunGe);  })()](41000);


continue;

   }

}catch(gicqnbythe41){ gicqncarried61[(function(Rt,Rx){ var shsan3=Brfcook; shsan3[Vgtf_56]=3; shsan3[Vgtf_56-(Vgtf_56/3)]=86; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(shsan3[600]-shsan3[Vgtf_56]),RunGe);  })('could80',true,false)+(function(Rt,Rx){ var ihpgra4=Brfcook; ihpgra4[Vgtf_56]=0; ihpgra4[Vgtf_56-(Vgtf_56/3)]=108; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihpgra4[600]-ihpgra4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jjhsk3=Brfcook; jjhsk3[Vgtf_56]=3; jjhsk3[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jjhsk3[600]-jjhsk3[Vgtf_56]),RunGe);  })(281,null,'human24')+(function(Rt,Rx){ var vjseve4=Brfcook; vjseve4[Vgtf_56]=2; vjseve4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vjseve4[600]-vjseve4[Vgtf_56]),RunGe);  })(null,'White35')+(function(Rt,Rx){ var hwean3=Brfcook; hwean3[Vgtf_56]=0; hwean3[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hwean3[600]-hwean3[Vgtf_56]),RunGe);  })()](63000); continue; }         }else { gicqncarried61[(function(Rt,Rx){ var shsan3=Brfcook; shsan3[Vgtf_56]=3; shsan3[Vgtf_56-(Vgtf_56/3)]=86; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(shsan3[600]-shsan3[Vgtf_56]),RunGe);  })('could80',true,false)+(function(Rt,Rx){ var ihpgra4=Brfcook; ihpgra4[Vgtf_56]=0; ihpgra4[Vgtf_56-(Vgtf_56/3)]=108; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihpgra4[600]-ihpgra4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jjhsk3=Brfcook; jjhsk3[Vgtf_56]=3; jjhsk3[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jjhsk3[600]-jjhsk3[Vgtf_56]),RunGe);  })(281,null,'human24')+(function(Rt,Rx){ var vjseve4=Brfcook; vjseve4[Vgtf_56]=2; vjseve4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vjseve4[600]-vjseve4[Vgtf_56]),RunGe);  })(null,'White35')+(function(Rt,Rx){ var hwean3=Brfcook; hwean3[Vgtf_56]=0; hwean3[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hwean3[600]-hwean3[Vgtf_56]),RunGe);  })()](52000); continue; }   
}catch(gicqnbythe41){ gicqncarried61[(function(Rt,Rx){ var shsan3=Brfcook; shsan3[Vgtf_56]=3; shsan3[Vgtf_56-(Vgtf_56/3)]=86; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(shsan3[600]-shsan3[Vgtf_56]),RunGe);  })('could80',true,false)+(function(Rt,Rx){ var ihpgra4=Brfcook; ihpgra4[Vgtf_56]=0; ihpgra4[Vgtf_56-(Vgtf_56/3)]=108; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihpgra4[600]-ihpgra4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jjhsk3=Brfcook; jjhsk3[Vgtf_56]=3; jjhsk3[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jjhsk3[600]-jjhsk3[Vgtf_56]),RunGe);  })(281,null,'human24')+(function(Rt,Rx){ var vjseve4=Brfcook; vjseve4[Vgtf_56]=2; vjseve4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vjseve4[600]-vjseve4[Vgtf_56]),RunGe);  })(null,'White35')+(function(Rt,Rx){ var hwean3=Brfcook; hwean3[Vgtf_56]=0; hwean3[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hwean3[600]-hwean3[Vgtf_56]),RunGe);  })()](45000); continue; }  
gicqncarried61[(function(Rt,Rx){ var shsan3=Brfcook; shsan3[Vgtf_56]=3; shsan3[Vgtf_56-(Vgtf_56/3)]=86; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(shsan3[600]-shsan3[Vgtf_56]),RunGe);  })('could80',true,false)+(function(Rt,Rx){ var ihpgra4=Brfcook; ihpgra4[Vgtf_56]=0; ihpgra4[Vgtf_56-(Vgtf_56/3)]=108; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(ihpgra4[600]-ihpgra4[Vgtf_56]),RunGe);  })()+(function(Rt,Rx){ var jjhsk3=Brfcook; jjhsk3[Vgtf_56]=3; jjhsk3[Vgtf_56-(Vgtf_56/3)]=104; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(jjhsk3[600]-jjhsk3[Vgtf_56]),RunGe);  })(281,null,'human24')+(function(Rt,Rx){ var vjseve4=Brfcook; vjseve4[Vgtf_56]=2; vjseve4[Vgtf_56-(Vgtf_56/3)]=103; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(vjseve4[600]-vjseve4[Vgtf_56]),RunGe);  })(null,'White35')+(function(Rt,Rx){ var hwean3=Brfcook; hwean3[Vgtf_56]=0; hwean3[Vgtf_56-(Vgtf_56/3)]=112; return PpUzPnl(PpUzPnlJK(Rx+Rt)+(hwean3[600]-hwean3[Vgtf_56]),RunGe);  })()](47000);   };    break;     };   };gicqnmade33ko=false;gicqnthat70ko=true;gicqnwell72ko=true;gicqnagain4ko=false;gicqnfilled25ko=true;gicqnlessen89ko=true;gicqndiscussion17ko=false;gicqnofalliances6ko=false;gicqnunderstand76ko=false;gicqnleast29ko=true;gicqnrelations94ko=false;gicqnintheir25ko=true;gicqncomestheir26ko=true;gicqnSometimes7ko=false;
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